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Class XII Chapter 6 - Application of Derivatives Maths

Find the rate of change of the area of a circle with respect to its radius r when
(@)r=3cm (b)) r=4cm
Answer
The area of a circle (A) with radius (r) is given by,
A=m"
Now, the rate of change of the area with respect to its radius is given by,
jr,‘! = ;: (m': } =2nr
1. Whenr=3cm,
dA
> =
Hence, the area of the circle is changing at the'rate of 6n cm?/s when its radius is 3 cm.
2. Whenr=4cm,
dA
o =

Hence, the area of the circle is changing at the rate of 8n cm?/s when its radius is 4 cm.

2n(3)=6m

2n(4)=8xn

The volume of a cube is.incréasing at the rate of 8 cm?®/s. How fast is the surface area
increasing when the length of an edge is 12 cm?
Answer
Let x be the length of a side, V be the volume, and s be the surface area of the cube.
Then, V = x> and S = 6x® where x is a function of time t.

daV

=8cm’ /s

It is given that !

Then, by using the chain rule, we have:

Page 1 of 138


http://www.freehomedelivery.net

Class XII Chapter 6 — Application of Derivatives Maths

d o d d ;o4 dx . dx
E{: = _"l' = h . =:‘ -,
[1 ] {'r } = Ix >

dx _ 8 “]
= fﬁ F';'L
Now, E = i{ .r:): i(ﬁr]ﬁ [B}f chain rule]
dir i e dt
. \ 3
= I2x,£=12 [ B,J:“—
ct 3x° x
ds = 32 cm’ /s = — cm” 8

Thus, when x = 12 cm, @ 12 3

Hence, if the length of the edge of the cube is 12°Cm, then the surface area is increasing
&

at the rate of 3 cm?¥/s.

The radius of a cii€le istincreasing uniformly at the rate of 3 cm/s. Find the rate at which
the area of the circla is increasing when the radius is 10 cm.

Answer

The area of a circle (A) with radius (r) is given by,

A=m"

Now, the rate of change of area (A) with respect to time (t) is given by,

14 d; v d i
I.'_: (_{-]Tr"}.i = 2']'[,!‘£
di i todi i
It is given that,

[H}-‘ chain rulc]

i =3 cm/s

df
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dA =2nr(3)=6mr

ol

Thus, when r = 10 cm,
dA

—~=6m(10)=60m cm’ /s
dr

Hence, the rate at which the area of the circle is increasing when the radius is 10 cm is
60n cm?/s.

An edge of a variable cube is increasing at the rate of 3 cm/s. How fast is the volume of

the cube increasing when the edge is 10 cm long?

Answer

Let x be the length of a side and V be the volume of the cube. Then,

V = X3.
dr

o dx
.ot

3x - —
dl (By chain rule)

It is given that,

ﬂrj =3 cm/s
Peld
dlV . N
=3x"(3)=9x"
i f }

Thus, when x = 10 cm,
dl

=9(10)" =900 cm’ /s
dt
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Hence, the volume of the cube is increasing at the rate of 900 cm>/s when the edge is 10

cm long.

A stone is dropped into a quiet lake and waves move in circles at the speed of 5 cm/s. At
the instant when the radius of the circular wave is 8 cm, how fast is the enclosed area
increasing?

Answer

The area of a circle (A) with radius (r) is given by 4 = ?”':.

Therefore, the rate of change of area (A) with respect to time (£)'is given by,

dd d . d .y dr dr

i —(m"}= —{m" — =2 —

dr o dt? dr dl dt [By chain rule]
ﬁ =5 cm/s

It is given that df
Thus, when r = 8 cm,

ad a
dt

Hence, when the radius of the circular wave is 8 cm, the enclosed area is increasing at

2n(8)(5)=80mn

the rate of 80n cm?/s.

The radius of a circle'is increasing at the rate of 0.7 cm/s. What is the rate of increase of
its circumference?
Answer
The circumference of a circle (C) with radius (r) is given by
C = 2nr.
Therefore, the rate of change of circumference (C) with respect to time (t) is given by,
dC _dC _ dr
di— dr i (By chain rule)
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o elr
= 2 ) —
c.i'.l‘{ m} i
o
ot
dr

It is given that df

is2m(0.7)=1.
Hence, the rate of increase of the circumference " ﬁ({ } L4z cmvs

The length x of a rectangle is decreasing at the rate of 5 cm/minute and the width y is
increasing at the rate of 4 cm/minute. When x = 8 cm and y ='6.cm, find the rates of
change of (a) the perimeter, and (b) the area of the rectangle.

Answer

Since the length (x) is decreasing at the rate of 5 em/minute and the width (y) is

increasing at the rate of 4 cm/minute, we have:

dx o dv o

=-5 em/min = =4 cm/mn
i and dr
(@) The perimeter (P) of a rectangle is given by,
P=2(x+Yy)

P _(d .. )
Sl £+{dlfl J: "i\ - 38 4} = —2 cmymin

Cde C\dr dt
Hence, the perimeteriis decreasing at the rate of 2 cm/min.
(b) The area (A) of a rectangle is given by,
A=xXxy

A dx iy

dA _ dx N d)

— ya+x - —==Sp+4dx
odr o dr dr ’

14 S 3, .
@ = [—5 %6+ 4x8) em® /min =2 cm’ /min

When x =8 cmand y = 6 cm, A
Hence, the area of the rectangle is increasing at the rate of 2 cm?/min.
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A balloon, which always remains spherical on inflation, is being inflated by pumping in
900 cubic centimetres of gas per second. Find the rate at which the radius of the balloon
increases when the radius is 15 cm.

Answer

The volume of a sphere (V) with radius (r) is given by,

4
V=—"m

~Rate of change of volume (V) with respect to time (t) is givenby;

dv_dV dr

dr dr o dr [By chain rule]
“r fd ""u “ﬁ.

— | - | —

- ]
ar 3 I odt
= 4mr’ dr
dt
4V B0 g\
It is given that @F
~.900 = 4ar° i
dt
ar 900 225
- —= - =—
dr dmrs wr

Therefore, when radius = 15 cm,
dr 225 1

dt (15) =
Hence, the rate at which the radius of the balloon increases when the radius is 15 cm
|

— cms.
is T
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A balloon, which always remains spherical has a variable radius. Find the rate at which
its volume is increasing with the radius when the later is 10 cm.
Answer

V=—=mar
The volume of a sphere (V) with radius (r) is given by 3
Rate of change of volume (V) with respect to its radius (r) is given by,

; N .
dv :i i]‘,[j'li |=iﬂ{3."?}=4ﬂ|"?
3

dr  drl 3 J

Therefore, when radius = 10 cm,
/ ]

W _ 4z(10) = 400m

(ul'lﬂ'

Hence, the volume of the balloon is increasing at the rate of 400n cm?/s.

A ladder 5 m long is leaning against a wall. The bottom of the ladder is pulled along the
ground, away from the wall, at'the rate of2 cm/s. How fast is its height on the wall
decreasing when the foot of the ladder’is 4 m away from the wall?

Answer

Let y m be the height of the wall at which the ladder touches. Also, let the foot of the
ladder be x maway from. the wall.

Then, by Pythagoras theorem, we have:

x?> + y? = 25 [Length of the ladder = 5 m]

=3 :vﬁ

Then, the rate of change of height (y) with respect to time (¢t) is given by,

dy -x  dx

d Jos—i dt

Gri =2 cmfs

It is given that @/
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Cdy -2x

T N
Now, when x = 4 m, we have:
u’_1 . =2x4 8

dt J25-4° 3
— cm/s
Hence, the height of the ladder on the wall is decreasing at the rate of 3
3
y= 3
A particle moves along the curve by =x +< Find the points on_the curve at which the y-

coordinate is changing 8 times as fast as the x-coordinate.
Answer

The equation of the curve is given as:
6y=x +2
The rate of change of the position of the particle with respect to time () is given by,

6 _32% g
dt dt

When the y-coordinatesof.the particle changes 8 times as fast as the

: dy =8:."*.

\ D . |
x-coordinate i.e., " i , we have:
(de L dx
2| 8 =x"
|l df

5 dx
= (x —m)ﬁ_n
= x =16

==y =24
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I=4,_1J=4'+2:66=||
When 6 6
—4) +2
1__41:1:(} __62_ 3l
When 0 6 -
£ 210
—4.ij.
3

Hence, the points required on the curve are (4, 11) and * -

1

The radius of an air bubble is increasing at the rate of 2 cm/s. At what rate is the
volume of the bubble increasing when the radius is 1 cm?
Answer
The air bubble is in the shape of a sphere.
Now, the volume of an air bubble (V) with radius\(r) is given by,
4

F 3
¥V =—mr

The rate of change of volume (V) with.respect to time (t) is given by,

a4 d ;o5 dr
_—::—(; }E

dt 3 drt
4 . oondr
_ [ . )

Al

| By'ehain'rule]

ar 1 )
— =— cm/'s

It is given that @f 2

Therefore, when r = 1 cm,

v ) ;
d =dxn(1) l]z?n cm’ /s
t L2

Hence, the rate at which the volume of the bubble increases is 2n cm?/s.
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~(2x+1).

|

A balloon, which always remains spherical, has a variable diameter Find the
rate of change of its volume with respect to x.
Answer
The volume of a sphere (V) with radius (r) is given by,
4
V=—m

It is given that:

_3(2x41)
Diameter

3
= r==(2x+1
HERS)

4 (3Y i 9 3
S =—x = | (2x+]1) =—m(2x+1
3 |-.~4,|'[ x+1) =12 +)

Hence, the rate of change of volume with respect to'x is as

dv = 9 T d {21‘4—1]; = 9 xx3[2x+l]'\x2: 23 rr(jx+lj'1.
dv 16 dx 16 : 8

Sand is pouring from‘apipe at'thesrate of 12 cm?/s. The falling sand forms a cone on the
ground in such adway that the height of the cone is always one-sixth of the radius of the
base. How fast is the height of the sand cone increasing when the height is 4 cm?
Answer
The volume of a cone (V) with radius (r) and height (h) is given by,

|
V==mrh
It is given that,

h:lf' = =00
G

V= ;‘Il’{ﬁh}? h=12nk’

2
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The rate of change of volume with respect to time (t) is given by,

dv =12n d [F:“.J-dh

dt dh dl [By chain rule]
vy cdh

=123k | —

~ 36nnt
dr

dlV .
—=12cm /s
It is also given that 9!

Therefore, when h = 4 cm, we have:

dh
et
dh 12 1
—::" —_—a——
o 3611“6_} 48n

12=36n(4)

Hence, when the height of the sand cone is 4 cmy, its height is increasing at the rate

The total cost C (x) in.Rupees.associated with the production of x units of an item is
given by
C(x)=0.007x" —0.008% -+ 1 5x + 4000

Find the marginal cost when 17 units are produced.

Answer

Marginal cost is the rate of change of total cost with respect to output.
dC

- f}_f}f}?‘{h: ) - ﬂ.ﬂﬂE{Ex] +15
~Marginal cost (MC) dx

=0.021x" - 0.006x +15
When x = 17, MC = 0.021 (17%) — 0.006 (17) + 15

Page 11 of 138



Class XII Chapter 6 - Application of Derivatives Maths

= 0.021(289) — 0.006(17) + 15

= 6.069 — 0.102 + 15

= 20.967

Hence, when 17 units are produced, the marginal cost is Rs. 20.967.

The total revenue in Rupees received from the sale of x units of a product is given by
R(x)=13x"+26x+15

Find the marginal revenue when x = 7.
Answer
Marginal revenue is the rate of change of total revenue with respect to the number of
units sold.
_dR
~Marginal Revenue (MR) - dv = 13(2x) + 26 = 26x + 26

When x = 7,
MR = 26(7) + 26 = 182 + 26 = 208

Hence, the required marginal revenue is Rs 208.

The rate of change of the area of a circle with respect to its radius rat r = 6 cm is
(A) 10n (B) 12n (C) 8n (D) 11n

Answer

The area of a circle (A) with radius (r) is given by,

A=m"

Therefore, the rate of change of the area with respect to its radius ris

dA = d {m':}: 2
dr dr /
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~“When r =6 cm,

14 -
O e dmx6=12mem?/s

dr

Hence, the required rate of change of the area of a circle is 12n cm?/s.

The correct answer is B.

The total revenue in Rupees received from the sale of x units'of\a‘product is given by

xi=3 2 1 xr+5 -
R(x)=3x"+36x . The marginal revenue, whemy* <13is

(A) 116 (B) 96 (C) 90 (D) 126
Answer
Marginal revenue is the rate of change of tetal\revenue with respect to the number of

units sold.

_dR
~Marginal Revenue (MR) ' = 3(2x)s+ 36 = 6x + 36
~When x = 15,

MR = 6(15) + 36 =90 + 36 = 126
Hence, the required marginal revenue is Rs 126.

The correct answer is D.
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Show that the function given by f(x) = 3x + 17 is strictly increasing on R.

Answer

Let ™ and x, be any two numbers in R.

Then, we have:
X <x, =3y <3x, = 3%, +17<3x, +17= f(x) < f(x,)

Hence, fis strictly increasing on R.

Alternate method:
f'(x) = 3 > 0, in every interval of R.

Thus, the function is strictly increasing on R.

Show that the function given by f{x) = e*“is strictly increasing on R.

Answer

Let™ and x, be any two numbers in'R:

Then, we have:
x <x,=2x <2 WML NS [(x) < f(x,)

Hence, fis strictly increasing on R.

Show that the function given by f(x) = sin x is

"

Y f
0% L
(a) strictly increasing in * </ (b) strictly decreasing in * 2
(c) neither increasing nor decreasing in (0, n)
Answer

The given function is f(x) = sin x.

S (x)=cosx
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P

,n:[ U.%x].cns x =0,

T
(a) Since for each we have-‘f ("} U_
{ k!
[
102 ]
Hence, fis strictly increasing in* </,
t‘F{R ;11“ cos x <0
e s 5 X = i
X<
(b) Since for each 2 ) , we have / “} 0
Ilrn "
_.n

Hence, fis strictly decreasing in* 2,
(c) From the results obtained in (a) and (b), it is clear that f is neither.increasing nor

decreasing in (0, n).

Find the intervals in which the function f given byaf(x) ="2x> — 3x is
(a) strictly increasing (b) strictly decreasing

Answer

The given function is f(x) = 2x* =3x.

,r”{'u.} =4x-3

L x)=0 = x=

Lo La

1 Fo3y (3
- —a0, — —, 80 |,
Now, the point 4 divides the real line into two disjoint intervals i.e., 4/and\*

y -
~al} b S
3
&
3 \
| —a0,— |, f'(x)=4x-3 <0,
In interval 4)
r’ 30
—,—
Hence, the given function (f) is strictly decreasing in interval 4) .
(3

—.-:x;],_f"{_r} =4x-3=10,
In interval 4
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i3 ]
— a0

Hence, the given function (f) is strictly increasing in interval 4 .

Find the intervals in which the function f given by f(x) = 2x®> — 3x* — 36x + 7 is
(a) strictly increasing (b) strictly decreasing
Answer

The given function is f(x) = 2x> — 3x*> — 36x + 7.

f'(x)=6x"—6x-36=6(x" —x—6)=6(x+2)(x-3)

.-.-‘(J{'i.}zu—?' x=-2,3

The points x = —2 and x = 3 divide the real line into three disjoint intervals i.e.,

(—e0,-2),(-2.3), and (3,).

—tn
- + — L

3

]

(—0,—2) and (3,zJM(¥)

In intervals “ is positive while in interval

(-2, 3), 'fu{'r} is negative.

Hence, the given function (f) is strictly increasing in intervals

{_.ﬂ’_z} and {J'm} , while function (f) is strictly decreasing in interval

(=2, 3).

Find the intervals in which the following functions are strictly increasing or decreasing:
(a) x> + 2x — 5 (b) 10 — 6x — 2x?

(c) =2x°* —9x* — 12x + 1 (d) 6 — 9x — x*

(e) (x + 1)° (x - 3)°
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Answer
(a) We have,

fx)=x"+2x-5
o ff(x)=2x42
Now,

F=0, -,

Point x = —1 divides the real line into two disjoint intervals i.e.,

In interva|{_ﬂ!—1},.f'|:x} =2v42 <.

-0 — ]
~f is strictly decreasing in intervaI[ —1)

Thus, fis strictly decreasing for x < —1.

In intervallz_]’ﬁ':]'u‘r (x)=2x+220,

. . . ~eo).
«~ fis strictly increasing in interval( ’ J

Thus, fis strictly increasing for x > —1.
(b) We have,

fix) = 10 — 6x — 2x?

L f(x)=—-6—4x

Now,

f(x)=0=x= —%

(—e0,—1) and (—1,20).
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3
X ===
The point 2 divides the real line into two disjoint intervals
i 30 r3 A
—0, = and | ——, 0 .
i.e.,li" o i _.-I
r’ 30 3
- X< — ol
. . x)=—6-4x <0,
In interval 2) i.e., when 2 ,f (x)=-6

3
X< ==
=~ fis strictly increasing for 2

3 3 3
__"wJ b= —_ i
x)=-6dy< )
In interval* < i.e., when glf (x)=68d4xE0D
3
X ——
=~ fis strictly decreasing for 2

(c) We have,

fix) = =2x> —9x*> — 12x + 1

o f1(x) = —6x" — Je 185 O + 3x+2) =—6(x +1)(x+2)
Now,

f'(x)=0 = x=-1and¥=-2

Points x = —1 and x = —2 divide the real line into three disjoint intervals

i-e-r[_m’_z}’[_l‘]}a and (—1,%).

(—o0,—2) and (-1,)

In intervals

Sf(x)=-6(x+1)(x+2)< 0

i.,e., whenx < =2 and x > -1,
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=~ fis strictly decreasing for x < —2 and x > —1.

S(x)==6(x+1)(x+2)> 0

Now, in interval (-2, —1) i.e., when -2 < x < -1,

~ fis strictly increasing for —2<x<-1,

(d) We have,

fx)=6-9x—x"
S ff(x)=-9-2x
Now, [

(x)=0 givesx = —%

9

X===
The point 2 divides the re

d (_“ : \\Q)

. fis strictly increasing for 2,

9 ] 9
__’a:l X > = ¥ —_0_
In interval( - i.e., for 2If(x}— 9—2x<0.
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Xm——
. fis strictly decreasing for 2,

(e) We have,

fix) = (x+ 1) (x - 3)°

j"{x}=f‘r|[x+l}2{.'c—3f+3[.'c—3}:{,r+lj
=3(x+1) (x=3) [x—3+x+1]
=3(x+1) (x=3)" (2x-2)
=6(x+1) (x=3) (x~1)

Now,

f(x)=0 = x=-1,3,1

3

The points x = —1, x = 1, and x = 3 divide the.real line into four disjoint intervals

e, ) i1y, 3y, and ),
In intervals[_ﬂ'_”and (-1, 1),

-~ fis strictly decreasing in intervals{_ﬂ'_]}and (-1, 1).

In intervals (1, 3) and

3,0
~ fis strictly increasing in intervals (1, 3) and{ }

P )= 6(x+1) (x=3) (x-1) <0

(3:) f1(x)=6(x+1) (x=3) (x=1)>0
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Question 7:

2x
y=log(l +x]——.,x:.=- -1
Show that 2+x , is an increasing function of x throughout its
domain.
Answer
We have,

2x
r=log(l+x)—-——
y=log(1+x)-—=—

.Q= 1 _{2+X){2)-21'I:1}= 4 ¥ )
Tde l+x {2+x]2 1+ [2+x}3 {2+x}3 “&
MNow, ﬁ:ﬂ . \k%

dx \};
x %

= =0
) \\
=x" =0 (2+x)#0asx>-1
[ 1R

=x=0

Since x > —1, point x = 0 divi

(%‘%—1, 00) in two disjoint intervals i.e., —1 <

x < 0and x> 0.

When -1 < x < 0, we have: \
x<0=x'>0 A Q)

x>-1=(2+x) %

X
Ly = >0
Y ey

Also, when x > 0:

¥>0=x" >0, (24x) >0

J_:': ull 3 }ﬂ

(2+x}

Hence, function fis increasing throughout this domain.

Question 8:
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. Coy=[x(x-2)] . .
Find the values of x for which is an increasing function.
Answer

We have,

The points x = 0, x = 1, and x = 2 divide the real line into four disjoint intervals i.e.,
(—=0,0), (0,1) (12), and (2,%).
dy
(~0,0) and (1,2) ;":”

In intervals , X

~ y is strictly decreasing in intervals {_M'U} AN (]‘2} .

h
Yo,
However, in intervalsi(0, 1) and (2, ), dx

~ y is strictly increasing in intervals (0, 1) and (2, o).

.y is strictly increasing for 0 < x < 1 and x > 2.

4sinf

'LI:{2+L‘L159]_0. . . . . U‘%
Prove that is an increasing function of 6 in-
Answer
We have,
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__4sind
(2+cosB)
dy (2+cos@)(4cosd)—4sin6(-sin )
Ve (2 +m5§]2 B
_ 8cos@+4cos” @ +4sin” 6
- (2+cos@)’ B
_ Bcostl+4
B (2+cos@)’

on o Q,\‘\

Bmsﬁ'+4 1

[2+c036’} \\\
= 8cosf+4=4+cos’ @+4cosf \Q}
= cos’ @ —dcosf =0 \
= cos#(cosd-4)=0
= cosf?=0or costl =4

Since cos 6 # 4, cos 6 = 0. \Q
cost = D:MS'—

Now,
@=8m33+4— &4*:039 _ 4cosd—cos Bzcusﬂ{fl—msﬂ?)
dx (2+coS (2+cos)’ (2+cose)
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/ \
0,
In interval * *, we have cos 6 > 0. Also, 4 > cos 8 =4 —cos 6 > 0.

[N -]

.cos@(4-cosf) =0 and also 2+ cos H]z =0

cos@(4-cosd)
= —— =10
(2+cosd )
dy

=—=>0
dx

Therefore, y is strictly increasing in interval *

T
x = (Fand r=—
Also, the given function is continuous at 2

K
U._}
Hence, y is increasing in intervalt 2 p

Prove that the logarithmic function.is strictly increasing on (0, o).
Answer
The given function 3§ i 1= Yoz x.

S (x)=t

y 1
flx)===0.
It is clear that for x > O, X

Hence, f(x) = log x is strictly increasing in interval (0, o).

Prove that the function f given by f(x) = x> — x + 1 is neither strictly increasing nor
strictly decreasing on (-1, 1).

Answer
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The given function is f(x) = x> — x + 1.
() =2x-1
Now, f(x)=0=x= %

I

The point 2 divides the interval (=1, 1) into two disjoint intervals

(] 1)
L—I, —] and [—. 1.
i.e., 2, 2 )

Now, in interval* 4

{
-1
Therefore, fis strictly decreasing in interval *
i ] kY .,
— 1 (x)=2x-1>0.
However, in interval * /

1
‘2

"4

\.

(l. 1\|

A 2 )

Therefore, fis strictly increasing in intervalL

Hence, fis neither strictly increasing nordecreasing in interval (-1, 1).

———
=
[N =]

Which of the following functions are strictly decreasing on
(A) cos x (B) cos 2x (C) cos 3x (D) tan x

Answer
(A) Let fi{x)=cosx.
S (x)=—sinx

o
- |“~U% S(x)=—sinx<0.
n interva /

r’U E\

S f(x)=cosx "2

is strictly decreasing in interval

“ .
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(B) Letff (x)=cos2x.

oS (x)==2sin2x

Nﬂw.,I'J{xq%:}ﬂ{ix{n:}sinfﬁx}{}:—Zsian{ﬂ

) e e < =
o (x)=-2sin2x GM(D’ZJ

E]
= Ja (r) =cos 2y is strictly decreasing in interval( .

© Letfj (x)=cos3x. Qﬁ
o fi(x)=-3sin3x $
@)

Now, f;'(x)=0. ‘ \
T

= sin3x=0=3x=mas IE({}’E]

-
Il
| =

The point

[D, EJ an
i.e., 0 3

MNow, in interval (!l

into two disjoint intervals

i

il =

A (x)=-35in3x <0 [m; U{.t{%:‘»ﬂ{?rx{n}

= f3 is strictly decreasing in interval 3 .

However. in interval {Eﬁ EJ.}; (¥)=-3sn3x>0 [m' L T 3—“}
3 0 ) 3 B 2
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{ N

3| =

WA

« f5 is strictly increasing in interval * 4.

Hence, f; is neither increasing nor decreasing in interval

(D) Let fi(x)=tanx.

S fi(x)=sec’ x

‘. Ffi(x)=sec’ x=0.
A

{
0,
In interval

2| =

=~ fy is strictly increasing in interval *

r‘U T
Therefore, functions cos x and cos 2xyare strictly decreasing in * 2)

Hence, the correct answers are A and B.

(£ .
X)= + X—
On which of the following intervals is the function f given by f{r] ¢ S Istrictly

decreasing?
r’E ‘|:\I|
@ @ 27
HU, E“
2

)+

Answer

4 (D) None of these

We have,
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Sx)=x""+sinx-1
oS (x)=100x" +cos x

In interva|[ﬂ~ 1), cosx>0and 100x™ > 0.

M x)=0

Thus, function fis strictly increasing in interval (0, 1).

[E.rr ].-:05 x <0 and 100 x™ =0. Also. 100%™ >cos x
In interval

5

(>0 s)

)

i

g EJ
Thus, function f is strictly increasing in intervalk2 -

) ( m) a
In interval | 0, J5|.msx =0 and 100x™ = 0.
2 100x™ +cosx =0
Y ( )

= f'(x)=0o0n |0,

|

.

r3 | =

e

b

= fis strictly increasingsin«<interval

[

Hence, function fis strictly decreasing in none of the intervals.

The correct answer is D.

. . . (x)=x"+ar+1._
Find the least value of a such that the function f given "f{ } “ is strictly

increasing on (1, 2).
Answer

We have,
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S(x)=x"+ar+1
S f(x)=2x+a

f'(x)>0

Now, function f will be increasing in (1, 2), if" in (1, 2).

f(x)>0

=>2x+a>0

= 2x > —a

=1
X>=—
A

Therefore, we have &0 find the least value of a such that

- .
X . » when x e (I02h

-l
= x> (when l<x <2)

Thus, the least value of a for f to be increasing on (1, 2) is given by,

=1

=l==ag=-2

'\J|:; |J|R':

Hence, the required value of a is —2.
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Let I be any interval disjoint from (=1, 1). Prove that the function f given by
1

* is strictly increasing on I.

Answer
We have,
fx)=x+ !
X
. l
/ {T} l——
Now

,f"{r}—ﬂﬁLﬁ—l = x =zl
X

The points x = 1 and x = —1 divide the real line.n three disjoint intervals i.e.,

(—e0,—1),(-1, 1), and (I, o)

In interval (-1, 1), it is observed that:
“l<x=<l
= x° <

_>1{i:1_,;¢{}

X

1
— <, x=0
X

=1

s (x) = |—L,.:n oNgRly 1) ~ {0}.
x° }

-~ fis strictly decreasing on (1. 1)~

In intervals{_x’_” and (L. m}, it is observed that:
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x<-lorl<x

= ' >
== lﬁ
X
1
= 1l=-—=10

-

X

s (x)=1 L“«ﬂ on (~o,~1) and(l, =).

X

«~ fis strictly increasing on

Hence, function fis strictly increasing in interval T disjoint:from (-1, 1).

Hence, the given result is proved.

0,
Prove that the function f given by f(x) =vlog sin x is strictly increasing on L

?..il |
strictly decreasing on" . g

Answer

We have,
f(x)=logsinx
1

.f"{-‘r}= ——cosx=cotx
sin x
(omy .,
0, — |,/ (x)=cotx=>0.
In interval <~/
I'rU. E\
2

= fis strictly increasing in*

(—o0, 1)and(1, 'r}

k| 2

‘and
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[E, n:],f’{x] =cotx < 0.
In interval 2

T
~f is strictly decreasing in 2

Question 17:

T
0, —]
Prove that the function f given by f(x) = log cos x is strictly easing on ( - and
A3

_,'E
strictly increasing on 2 \
Answer

We have,

f(x)=logcosx

05
~f is strictly decreasing on 2 .

n
[—, :I"I:J, tanx <0 = —tanx =0,
In interval

S f'(x)=00n [g, 1:]
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e i
—, T

-fis strictly increasing on“2 /.

Sx)=x"=3x"+3x-100

Prove that the function given by is increasing in R.

Answer

We have,

Sx)=x"=3x"+3x-100

S(x)=3x"—6x+3
=3(x*-2x+1)
=3(x-1)

For any xeR, (x — 1) > 0.

Thus, J {T} is always positive in R.

Hence, the given function(f) is increasing in R.

The interval in which ¥ =% € s increasing is
—oD, 00 2,50

(A) [ }(B) (-2, 0) (C) [ ](D) 0, 2)

Answer

We have,

y=x'e"
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dy 5 _s !
A I (2-x)
cfx
dv
Nuw,—'l =
dx

= x=0andx=2
The points x = 0 and x = 2 divide the real line into three disjoint intervals

e.,[—aﬂ, 0), (0, 2), and (2, ).

. -‘} . a - ,-T
In intervals( s ﬂ]and{-. °)./ {x}«: Oase is always positive.

~fis decreasing on{_x’ 0)and (2, ).

In interval (0, 2),"? “} > 0.

=~ fis strictly increasing on (0, 2).

Hence, fis strictly ingreasing’in interval (0, 2).

The correct answer is D.
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Find the slope of the tangent to the curve y = 3x* — 4x at x = 4.
Answer

The given curve is y = 3x* — 4x.

Then, the slope of the tangent to the given curve at x = 4 is given by,

dv|
L_lzx 41

' =12(4)' —4=12(64)— 4 =764
dx

x—1

.-.ll =
Find the slope of the tangent to the curve 249 ax #F2at x = 10.
Answer
x—1
rll =
The given curve is x-2,

v _(=2)()-(x-1)()
d {x_z:rl

:_1;—2—_1'+1: | |

{I—Z}: ™2 )

Thus, the slope of the tangent at x = 10 is given by,

ﬂw S~ Pl
dx |1 {x-zij:m (10-2)" 64

-1

Hence, the slope of the tangent at x = 10 is 64

Find the slope of the tangent to curve y = x> — x + 1 at the point whose x-coordinate is
2.

Answer
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— 3 .
The given curve is? =+ ~* +1
dy )
S =3xr =1
dlx

)
x ()

Hence, the slope of the tangent at the point where the x-coordinate is 2 is given by,

dy 3 2
DI 3221 =3(2F -1=12-1=11
d.r—‘” —|"3 (2)

The slope of the tangent to a curve at (xq, ¥o) is
It is given that x, = 2.

Find the slope of the tangent to the curve y = x3&.3x/+)2 at the point whose x-
coordinate is 3.

Answer

3
b=t T
The given curve isy =% 3x+ =.

v

=3yt -3
dx

e
i [EY .

e
The slope of the tangent to a.curve at (xo, ¥o) is
Hence, the slope of the tangent at the point where the x-coordinate is 3 is given by,
dy

x 5 I8 2 - P I r
o L1=3:r -3] =3(9 -3=27-3=24

T
="
Find the slope of the normal to the curve x = acos’9, y = asin®6 at 4.

Answer

It is given that x = acos®0 and y = asin’6.
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% =3acos’ @(—sin@) =-3acos’ @sin &

Y _34sin? 0(cosd)
d?

(4)
ﬂ: do ) _ ?rrrsm'f'cn.f.ﬂ __sinf  tan
dx [ﬁ] —3gcos’ @sind cosd
de
="
Therefore, the slope of the tangent at 4is given by,

dy

a="is giv
Hence, the slope of the normal at
1 -1

1

slope of the tangent at & = :

Question 6:
Find the slope of nx

Itis giventhat x = 1

Answer

in 6and y = b cos?6.

2 cos0 and &= 2bcos 0(—sin®)=-2hsinOcos0
ot d

[ﬁ
cdv _\d0) -2bsinficost 2b .

e = = sin@
dx [ﬁ] —acos0 a
dt
g="
Therefore, the slope of the tangent at 2is given by,

I \
DI - _tang] . =—tanZ=—] Q)
dx L:“ ]H=4 ﬂﬂ4 N “&
4

Qﬁﬂecurvex= 1 -asin B,y = b cos’6 at
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m-} 2b . } 2b . m 2b
— =—sinb =—sin—=—
dr |, @ at o d 2 a

.,
# =— 1s given by,
Hence, the slope of the normal at

| | bl

. T
slope of the tangent at & =

Find points at which the tangent to the curve y = x> — 3x> — 9x++ 7 is parallel to the x-
axis.
Answer

3 2
The equation of the given curve is¥ =X =3 A0

i =3y —6x-9
dx

Now, the tangent is parallel to the'x-axis.if\the slope of the tangent is zero.
230 —6x-9=0=x"-2x-3%0

=S(x—3)(x+ 1) =

= a3 o = V]
When x = 3,y = (8)° 4332~ 9(3) + 7=27 — 27 — 27 + 7 = -20.
Whenx = -1,y = (=1 - 3(-1)*-9(-1)+7=-1-3+9+7 =12,
Hence, the points at which the tangent is parallel to the x-axis are (3, —20) and
(-1, 12).

Find a point on the curve y = (x — 2)? at which the tangent is parallel to the chord
joining the points (2, 0) and (4, 4).

Answer

If a tangent is parallel to the chord joining the points (2, 0) and (4, 4), then the slope of
the tangent = the slope of the chord.

Page 38 of 138



Class XII Chapter 6 - Application of Derivatives Maths

4-0
The slope of the chord is 4-2

L)
2

Now, the slope of the tangent to the given curve at a point (x, y) is given by,
dy
- =
Since the slope of the tangent = slope of the chord, we have:
2x-2)=2

= x—2=l=x=3

Whenx=3, y=(3-2)" =1.

2(x-2)

Hence, the required point is (3, 1).

Find the point on the curve y = x> — 11x + 5 atwhich the tangentis y = x — 11.
Answer

The equation of the given curve is y = x> — 11x+ 5.

The equation of the tangent to the given curve is given as y = x — 11 (which is of the

formy = mx + c).

~Slope of the tangent = 1

Now, the slope of the tangent to the given curve at the point (x, y) is given by,
dv
dx

Then, we have:

-

11

=3x

= x=%2
Whenx=2,y=(2)>-11(12)+5=8-22+5= -9,
Whenx = -2,y = (-2 -11(-2)+5=-8+22+5 = 19,
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Hence, the required points are (2, —9) and (-2, 19).

Find the equation of all lines having slope —1 that are tangents to the curve

Answer

1
p=—— x=l

The equation of the given curve is A1
The slope of the tangents to the given curve at any point (x, y) is.given by,

dy 1
dv  (x-1)
If the slope of the tangent is —1, then we have:

1

(x=1)"
—(x-1) =1
== x—1=xl
= x=2,0

Whenx =0, y = =1 and whenx=.2, y = 1.
Thus, there are two tangents.tothe given curve having slope —1. These are passing
through the points(0, —1) and (2, 1).

~The equation of the tangent through (0, —1) is given by,

y—(-1)=-1(x-0)
= y+l=—x
= p+x+1=0

Page 40 of 138



Class XII Chapter 6 — Application of Derivatives

Maths

~The equation of the tangent through (2, 1) is given by,

y—-1=-1(x-2)

s>y—-1=-x+2

>y+x-3=0

Hence, the equations of the required lines are i+ X'+ 1 =0andy + x — 3 = 0.

Find the equation of all lines having,slope 2 which are tangents to the

V= L XFED
curve r—3
Answer
1
y= x=3
The equation of the given curve is r—3

The slope of the tangent to the given curve at any point (x, y) is given by,
dy 1
de  (x-3)

Y

If the slope of the tangent is 2, then we have:
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This is not possible since the L.H.S. is positive while the R.H.S. is negative.

Hence, there is no tangent to the given curve having slope 2.

Find the equations of all lines having slope 0 which are tangent to the curve

1
y =

Tx —2x+43
Answer
1
L NN
The equation of the given curve is X" —2x £8"
The slope of the tangent to the given curve at any point (x, y) is given by,
dy  —(2x-2)  -2(x-1)

d [,\': —2x+3}: B {:nr3 —2.1:+3:]-:

If the slope of the tangent is 0, then we have:
—2(x-1)

(.\:: —21—3}:

=10

= 2(x-1)=0

= x=]
- 1 |
Whenx =1, 1-2+3 2
i 17
3
~The equation of the tangent through 2] is given by,
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1
p——=0{x=1
y-2=0(x-1)
=y l={‘]

2

1
=y =
2

b | —

Hence, the equation of the required line is

Find points on the curve 9 16 at which the tangents are
(i) parallel to x-axis (ii) parallel to y-axis

Answer

oyt
+ 21
The equation of the given curve is 9 16

On differentiating both sides withirespect.to x, we have:

2x 2y dv

ST | Y
9 16 v
dv —lbx
= ==
de 9y
—Ii.'r.l':{]

(i) The tangent is parallel'to the x-axis if the slope of the tangentis i.e., 0 9y

which is possible if x = 0.

Then, 9 16 forx =0

=y =16= y=14

Hence, the points at which the tangents are parallel to the x-axis are
(0, 4) and (0, — 4).

Page 43 of 138



Class XII Chapter 6 - Application of Derivatives Maths

(ii) The tangent is parallel to the y-axis if the slope of the normal is 0, which
-1 Qy
—_\: "1 :“
—lﬁ.rJ l6x

9y

gives[ =>y=0.

Then, ¥ 16 fory = 0.

= x=13

Hence, the points at which the tangents are parallel to the y-axis are
(3,0) and (- 3, 0).

Find the equations of the tangent and normal tothe given curves at the indicated points:
()y =x*—6x>+13x> — 10x + 5 at (0, 5)

(i) y = x* = 6x3 + 13x*> — 10x + 5 at (1,.3)

(i) y = x> at (1, 1)

(iv) y = x* at (0, 0)

(v) x = cos t, y = sin tat 4
Answer
(i) The equation of tha eurve is y = x* — 6x> + 13x*> — 10x + 5.

On differentiating with respect to x, we get:

B 4 187 +26x-10
dx

L T

“I-r i, 5)

Thus, the slope of the tangent at (0, 5) is —10. The equation of the tangent is given as:
y—5=-10(x — 0)
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=>y—-5=-10x

>10x+y=>5

-1 ]

Slope of the tangent at (0,5) S0

The slope of the normal at (0, 5) is

Therefore, the equation of the normal at (0, 5) is given as:

|
5=—(x—0

T,
— 10y —50=x

= x—10y+30=0

(ii) The equation of the curve is y=x*—"6x2 + 13x*> — 10x + 5.

On differentiating with respect to x; we get:

D g 18+ +265-10
dx

LU RSP ST S
dv |, 5

Thus, the slope of the tangent at (1, 3) is 2. The equation of the tangent is given as:
y=3=2(x-1)

= y—3=2x-12

= y=2x+1

-1 -1

The slope of the normal at (1, 3) is Slope of the tangent at (1, 3) 2

Therefore, the equation of the normal at (1, 3) is given as:
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l
y—=3= —E{.'r— 1)
= 2y—6=—x+]
= x+2y-7=10
(i) The equation of the curve is y = x°.

On differentiating with respect to x, we get:

d' 3
& =3x
dx
v 2
DI =301y =3
dx (1, 1)
Thus, the slope of the tangent at (1, 1) is 3 and the equation ofsthe tangent is given as:
y-1=3(x-1)
= y=3x-2

| -

Slope of the tangent at (1, 1) 3

The slope of the normal at (1, 1) is
Therefore, the equation of the normal at (1, 1) is given as:

-1
p—l=—/(x-1
y=t=—(x-1)
= 3y-d=—x+I
= x+3y-4=0
(iv) The equation of the eurve s y = x°.
On differentiating with respect to x, we get:
dx
h
f_1 } »
dx (0, )

Thus, the slope of the tangent at (0, 0) is 0 and the equation of the tangent is given as:

y—0=0(x—-0)

2x

>y=0
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-1 1

The slope of the normal at (0, 0) is Slope of the tangent at (0,0) 0 \nich is not
defined.

Therefore, the equation of the normal at (xo, yo) = (0, 0) is given by

x=x,=0.

(v) The equation of the curve is x = cos t, y = sin t.

x=cost and y =sint

by . dy
J.— = —8int, — =cosf
dlt dt

m
t=—=
OThe slope of the tangent at . =4

f X I and
=—,  X=—= ]y =——

When

-

i),

I 1
I =E Le,at T,
Thus, the equation of the tangent to the given curve at 2

= x+y-2=0

! =1

=

kil Slope of the tangent at r = ?E
The slope of the normal at 4is 4
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-

fﬂicatf] J
P (WA N

Therefore, the equation of the normal to the given curve at
|
_1" - = 1| X —,—].
J2 LooW2

=

Find the equation of the tangent line to the curve y = x*> — 2x + 7 which is
(a) parallel to the line2x -y +9=0
(b) perpendicular to the line 5y — 15x = 13.

Answer

1=yt
The equation of the given curve ish =* 2x+ 4 :

On differentiating with respect to x, we get:
dy
E:
(a) The equation of the line is 2xi—y +9="0.
2X—-y+9=00y=2x+9

2x-2

This is of the form y = mx + c.

[OSlope of the line = 2

If a tangent is parallel te the'line 2x — y + 9 = 0, then the slope of the tangent is equal
to the slope of the line.

Therefore, we have:

2=2x-2
= 2x=4
=x=2
Now, x = 2

=y=4-4+7=7
Thus, the equation of the tangent passing through (2, 7) is given by,
y=71=2(x-2)

= y—2x-3=0
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Hence, the equation of the tangent line to the given curve (which is parallel to line 2x —

y+9=0)isV2¥=3=0,

(b) The equation of the line is 5y — 15x = 13.
. 13
"I_.l :_'3_‘[’ o —
5y — 15x = 13 O 3
This is of the form y = mx + c.
OSlope of the line = 3

If a tangent is perpendicular to the line 5y — 15x = 13, then the slope of the tangent is
-1 -1

slope of the line 3

-
-1
= 2x=—q+2
3
:be:;
A
5
= X=—
6
Now,x =—
23 10 26 00 28K 217
— ==
' 36 36
(5 217)
Thus, the equation of the tangent passing through* 6 36 is given by,
217 1 5
'l.'———__ _r__
36 BL 3]
v-217 -
L 36p=207 Sl )
36 18
::-36}'—21?:—2[6_:—5]
= 36y-217=-12x+10

= 36y+12x-227=0
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Hence, the equation of the tangent line to the given curve (which is perpendicular to line

S5y — 15x = 13) is3‘5,1"+|lr—22? —U.

Show that the tangents to the curve y = 7x> + 11 at the points where x = 2 and x = -2
are parallel.
Answer
The equation of the given curve is y = 7x° + 11.
dy

= =21y
dx

)
rhe N

s
The slope of the tangent to a curve at (xq, ¥o) is

Therefore, the slope of the tangent at the point where x.= 2 is given by,

dv 2

L =21(2) =84

de |, '

It is observed that the slopes of the tangents at the points where x = 2 and x = =2 are
equal.

Hence, the two tangents are paralleh

Find the points on the curve'y = x° at which the slope of the tangent is equal to the y-
coordinate of the point.
Answer
The equation of the given curve is y = x°.

dy 2
E =3x

The slope of the tangent at the point (x, y) is given by,

ﬂ} =3x’

dx

When the slope of the tangent is equal to the y-coordinate of the point, then y = 3x°.

Also, we have y = x°.
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O3x? = x°
Ox*(x-3)=0
Ox=0,x=3

When x = 0, then y = 0 and when x = 3, then y = 3(3)% = 27.

Hence, the required points are (0, 0) and (3, 27).

For the curve y = 4x®> — 2x°, find all the points at which the tangents

passes through the origin.
Answer

The equation of the given curve is y = 4x°> — 2x°.

: Lﬁ": 12x" —10x*

'i'iﬁe,’rrefore, the slope of the tangent at a point (X is/A2x% — 10x*.

The equation of the tangent at (x, y) is given by,

4

- . » 4
\;\/ﬁeh_tlgéz‘fgnﬁe]zﬁtr pla(s)s{eg"t‘l%rough the origih"&sijr 0), then X = Y = 0.

Therefore, equation (1) reduces, to:

—y= (]2.\': ~10x" ]{ x)
y=12x" —10x°

Also, we have
y=4%00.

12 10x =4 =20
= 8y —8x" =0

= —x' =0

= .r"[.'r:' —]}='D

= x=10, =1

wherx - 0,y - 4(0) ~2(0)' =0

Whenx =1,y =4 (1> -2 (1)° = 2.
When x = =1, y = 4 (-1)° - 2 (-1)°> = -2.
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Hence, the required points are (0, 0), (1, 2), and (-1, —2).

Find the points on the curve x> + y* — 2x — 3 = 0 at which the tangents are parallel to
the x-axis.

Answer

The equation of the given curve is x> + y?> — 2x — 3 = 0.

On differentiating with respect to x, we have:

v
2x+2y 2 _2=0
v
"
= y—=Il-x

dx
dv 1-x
de v

Now, the tangents are parallel to the x-axis if the'slope of the tangent is 0.
1__1
.'_—‘:{I::»I—:c:t}::-x:]
y
But, x> + y* — 2x — 3 = 0 for x'= 1.

—:"y2=4|:|.1’l_-|-2

Hence, the points at which the tangents are parallel to the x-axis are (1, 2) and (1, —2).

Find the equation of the normal at the point (am?, am?) for the curve ay? = x°.
Answer
The equation of the given curve is ay? = x°.

On differentiating with respect to x, we have:

2ay i =3x*
o
dv 2ay
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al
4y [T .

[
The slope of a tangent to the curve at (xq, ¥o) is

= The slope of the tangent to the given curve at (am?, am?) is

dy - 3(um3}: 3a'mt 3m

dx (e, ane' N Ea(am‘} 2wt 2

O Slope of normal at (am?, am?®)
1 2

slope of the tangent at (cmf. mn"] im

Hence, the equation of the normal at (am?, am?®) is given by,
-2 23

—(J(' ﬂf”'}

y — am?® = Im

= 3my —3am’ = -2x+ 2am’

= 2x+ 3my fm:r:{E t Bm:}= 0

Find the equation of the normals te the eurve y = x*> + 2x + 6 which are parallel to the
linex + 14y + 4 = 0.
Answer
The equation of the given curve is y = x> + 2x + 6.
The slope of the tangent to the given curve at any point (x, y) is given by,
day
dv
O Slope of the normal to the given curve at any point (x, y)
B -1
~ Slope of the tangent at the point (x ¥)

-1
RET

The equation of the given line is x + 14y + 4 = 0.

=3x" +2
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1 +
x+ 14y +4 =00 - ﬁl I_‘1‘(which is of the form y = mx + ¢)
-1
(OSlope of the given line = 14
If the normal is parallel to the line, then we must have the slope of the normal being

equal to the slope of the line.
-1 -1

3P 42 14
=3 +2=14
= 3x =12
=y’ =4
==y =12

Whenx=2,y=8+4+ 6 = 18.
Whenx =-2,y=-8-4+6 = —6.
!
Therefore, there are two normals to the given curve with slope 14 and passing through
the points (2, 18) and (-2, —6).
Thus, the equation of the normal through*(2, 18) is given by,

-1
—18="(x-2
) 7x-2)

= 1dy-252=-x 432
= x+14y-254 =10
And, the equation of the normal through (-2, —6) is given by,
; -1
p—(-6)=—|x-(-2
y=(-6)=,[¥-(-2)]
=1
= yp+b=—x+2
y+6="(x+2)
= 14y +84=—x-12
= x+14y+86=0
Hence, the equations of the normals to the given curve (which are parallel to the given

line) are ¥+14y =254 =0 and x+14y+86 = 0.
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Find the equations of the tangent and normal to the parabola y* = 4ax at the point (at?,
2at).

Answer

The equation of the given parabola is y? = 4ax.

On differentiating y? = 4ax with respect to x, we have:

IS

21-'£—4n
dx
dy )
& _2a_L
dx Jie 0q)  2at '\

. 2at
OThe slope of the tangent at(“ “ }I

) (uf", Zur}_ Y
Then, the equation of the tangent at is given by,
| .
—(r u.f"}
y —2at =1
= ty—2at’ = x—at’

=iy = x+at®

fuf. ZHI}I

Now, the slope of thesnormal-at®
-1
Slope of the tangen( at {as".i:.-a |

is given by,

_— = I

Thus, the equation of the normal at (at?, 2at) is given as:
y-2at=-t(x-af’)
= y—2at=—tx+at’

= y=—x+2al+al’

Prove that the curves x = y? and xy = k cut at right angles if 8k* = 1. [Hint: Two curves
intersect at right angle if the tangents to the curves at the point of intersection are
perpendicular to each other.]
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Answer
The equations of the given curves are given as” = andxy =k
Putting x = y? in xy = k, we get:

. 1
v =k=y=k®
Cr= k 3

{ z I
k .k-‘]

Thus, the point of intersection of the given curves is 4

Differentiating x = y? with respect to x, we have:

dv dy 1
l=2yp—=—=—
Tdv de 2y
{’ I I ﬁ _ 1
SN S (R
Therefore, the slope of the tangent to the curve'x = y at * ‘s ' !

On differentiating xy = k with respect to x, we\have:

dy dv -~y
r—t+y=0= =
dx dy  x
[ 2 I
k*, k-‘]
O Slope of the tangehtito the eurve xy = kat" “is given by,

dy } _ 1} N kY ]
dx |.'|'i' X |..l.=.‘ I
We know that two curves intersect at right angles if the tangents to the curves at the
{2 !
k*, k3
point of intersection i.e., at* 4 are perpendicular to each other.
This implies that we should have the product of the tangents as — 1.

Thus, the given two curves cut at right angles if the product of the slopes of their

respective tangents at Jis —1.
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i AT

e, 1, _,1 =-1
V260 k)
= 2% =1
I :\|3 .
=2k | =(1)
i f,'
= 8k =1

Hence, the given two curves cut at right angels if 8k* = 1.

: _1!J M
Find the equations of the tangent and normal to.the hyperbola @ " at the

point['v"‘ Yo )

Answer

Differentiating a b with réspect to x, we have:
2x 2y dy
x lyay 0

a’ - b’ E_
Jydy  2x

= — =
bode  ar
dv  b'x
— & _

dv da'y
dy bx,

['Yﬁu* .rn‘jis dx |5y Va ) a ¥y

Therefore, the slope of the tangent at

(x5, ¥4

Then, the equation of the tangent at is given by,
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B hz.ru )
Y=¥= L?'?}’U {I 1n}

- 11 g2 2.2
= a Yy, —ayy =b XXy ~b Xy

= b'xx, —a’yw, —b'x; +a’yl =0

xx, W, [x »|_ T dides by alh?
= — _?_[?—?]— 0 [On dividing both sides by a’h ]

. 2 2
0 W g (x,.),) lies on the hyperbola Yo
as b a” b
X Wy

u] b!

Xpe ¥y )

Now, the slope of the normal at{ is given by,

-1 _ _a!}'—u

Slope of the tangent at (x,, y, ) - b x,

. X Vo b /
Hence, the equation of the normal at{ - “)IS given by,

al-]'?lil h : II?

— }' ? _1"” + [:.T T'T:i= U
(J'___V[I Xg

—

Find the equation of the tangent to the curve + = V3x=2 hich is parallel to the line 4x
-2y +5=0.
Answer

The equation of the given curve is = V3%~ 2:

The slope of the tangent to the given curve at any point (x, y) is given by,
dv 3

de 2J3x-2
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The equation of the given line is 4x — 2y + 5 = 0.
.-P — 2_‘( 'l

4x -2y +5=00

[OSlope of the line = 2

Now, the tangent to the given curve is parallel to the line 4x — 2y — 5 = 0 if the slope of

2 | Ln

(which is of the form< = mx +c)

the tangent is equal to the slope of the line.

-
b

S |
243x-2
= 3‘1.‘(—2:E
4
9
= ix—-2=—
6
9 4]
=3x=—+2=—
16 16
4]
= X=—
48
. f I i 9 13
Whenx= 4L - 3[41]_2: 41, A2 (9 3
18 18 16 16 V16 4

(41 3)

OEquation of the tangent passing through the point \48 4 is given by,

i 4*.
_L'—E=2|.T——Ii
4 T\ 48]
:4J=—3_2[43.r—4'\
4 48 )
:~4J.-_3=M

— 24y 18 =48x— 4]
= 48x—-24y =123

R =
Hence, the equation of the required tangent is 48x—24) 23.

The slope of the normal to the curve y = 2x?> + 3sinxat x = 0 is
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]
(A) 3 (B) 3(C) -3 (D)

Answer

| =

v=7v" +3sin v
The equation of the given curve isV = =¥ 3sinx .

Slope of the tangent to the given curve at x = 0 is given by,

dy

Hence, the slope of the normal to the given curve at x = 0 is
~1 -1

Slope of the tangent at x =0 3

=4x+3cosx| =0+3cos0=3

The correct answer is D.

The line y = x + 1 is a tangent to the curve y? =.4x at the point
(A) (1, 2) (B) (2, 1) (C) (1, =2) (D) (-1, 2)
Answer

-
The equation of the given curve b = ’

Differentiating with respect to x, we have:

2 Ld—l =4= & v
Ty dv 4
Therefore, the slope of the tangent to the given curve at any point (x, y) is given by,
dv 2
dcy

The given line is y = x + 1 (which is of the form y = mx + ¢)

[0 Slope of the line = 1

The line y = x + 1 is a tangent to the given curve if the slope of the line is equal to the
slope of the tangent. Also, the line must intersect the curve.

Thus, we must have:
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2,

Y

=y=2

Now,y=x+l=x=y-1=x=2-1=1
Hence, the line y = x + 1 is a tangent to the given curve at the point (1, 2).

The correct answer is A.
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1. Using differentials, find the approximate value of each of the following up to 3 places

of decimal

(i) ‘\"Iﬁ(ii) J49.5 (i) ﬁ

(ivy (0:009)7 (o (0.999)0 - (15);

(6 i (255)¢ _ (82):

(vii) (ix)
[4(][}2 (xi) [{}.{}{}3?}2 (xii) [26.5?}-‘-

(815) iy (3-968)7 )

(x)

(xii (32.15)s

Answer

(i) ‘\"I'ﬁ

Consider? = Vx . Let x = 25 andiAx =.0.3.
Then,

Ay =+x+Ac—x = 053 08 4/253 -5
=253 =Ay+5

Now, dy is approximately. equal to Ay and is given by,

Wf‘u: = 2\}; (0.3) {as;-‘ = x.fﬂ

Iy
dv —|k%

)

- _(03)=0.03

2425

Hence, the approximate value of'“"zs‘j' is 0.03 + 5 = 5.03.

(iiy ¥49.5

Consider? = Vx . Let x = 49 and Ax = 0.5.
Then,
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Ay =+Jx+Ax —Jx =195 -49 = 195 -7
=495 =T+ Ay

Now, dy is approximately equal to Ay and is given by,

:{;-_[%] ﬂ,r_%%{ﬂ.s] [asy— v‘r;]
| <
=3 J_( = —{0 5)=0.035

Hence, the approximate value of V49.5 is 7 + 0.035 = 7.035.

Consider¥ :“G. Let x = 1 and Ax = — 0.4.
Then,

=Jr+Ax —x =0.6 -1
= J0.6 =1+ Ay

Now, dy is approximately equal to Ay andiis\given by,

dy |Kﬁ]iu: ], (Ax) [asy ﬁ]

Hence, the approximate value of V.6 is1+(-0.2)=1-0.2=0.8.

(ivy (0:009)

Consider? =% . Let x = 0.008 and Ax = 0.001.
Then,
1 |
Ay = (x+ Ax)s —(x)F =(0.009)5 —(0.008)5 = (0.009): —0.2
|
= (0.009): =0.2+Ay

Now, dy is approximately equal to Ay and is given by,
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R I |
,;ﬁ: = d—l Ax = I . [,.-*u‘] as v = x?
'\'(!r.rjl 3{.3:]; L
=1 (0.001)=22"_ 008
3=0.,04 0.12

L0093
Hence, the approximate value of{D 00 } is 0.2 + 0.008 = 0.208.

999

I
X .1,' = {I'r]ll]
Consider . Let x =1 and Ax = —0.001.
Then,

1 1 1
A=+ &) — ()6 =(0.999)
[
] {[}.'}'}'}}lil = ]_+ .'j._}'

Now, dy is approximately equal to Ay and is given by,

dy l '
{}j]_’: —_ Ar = m [Lﬁ.‘-ﬁ'] aS_i’—‘{I]'“
dy 10(x)i0
=L{—r}_nu1:= 0.006
10
1
; (0.999)w
Hence, the approximate value of ' is1+ (—0.0001) = 0.9999.
1
iy (5
|
Consider? =*" . Let x = 16 and Ax = —1.
Then,

1 ! [ [

Ay =(x+ Ax)t —x' =(15): —(16)¢ =(15)¢ -2
= (1) =2+ Ay

Now, dy is approximately equal to Ay and is given by,
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PRI [ [
Clli']": L?r_l Axr = ] ; {-*u] asy = xt
N () |
1 -1 -1

A(-1)=—
4(16)

—0.03125

4=8 E

i
Hence, the approximate value of“j} is 2 + (—0.03125) = 1.96875.

|
(viiy (260
|
Consider” (x) . Let x = 27 and Ax = —1.
Then,

1 1

Ay = (x+ Av): - (x) = (26)s ~(27)7 = (267 -3

|
=(26): =3+ Ay
Now, dy is approximately equal to Ay and is‘given.by,
2 [ [
c{v:[ﬂj Ax = ] ; [i‘rc] i as v = {r}-‘
dlx 3[1.}..\
1 : | —
= ——{=1)= P <0.0370
30N OS
1
j

| 3
Hence, the approximate value ofl'- ) is 3 + (—0.0370) = 2.9629.

1
(wiiiy (223)°

1
Consider” ~ [.r}- . Let x = 256 and Ax = —1.
Then,

Ay = (x4 Ax)i - (x)1 = (255)" —(256)1 = (255) 4
= [255}I4 =4+ Ay

Now, dy is approximately equal to Ay and is given by,
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PRI [ [
ul () asy = x*
'\d'j‘ )'I 4[1-]_1 L

—(-1) _4] ~0.0039

2 4
Hence, the approximate value of{'jj-} is4 + (—0.0039) = 3.9961.

(xy (82)°

-4
Y7 letx =81 and Ax = 1.

Consider? =
Then,

Ay = (x+ Ax)t - (x)E = (82)¢ — (81)¢ = (82) -3
= {E’E]4I =Ay+3

Now, dy is approximately equal to Ay and is‘given.by,

C v \ :
dy =| d—l Ar=— +(Ax) 'asy= xt
'\dl )'l 4[1—]_1 L

—(1)=—&£2 F -0.009
a(g1yN NS08

| 4
Hence, the approximate value ofl*sz} is 3 + 0.009 = 3.009.

o (401)2

Consider? =% . Let x = 400 and Ax = 1.
Then,

Q}J:J1'+&T—\'q:v'm—\,l'4{]ﬂ :\@_20
= 401 =20+ Ay

Now, dy is approximately equal to Ay and is given by,

Page 66 of 138



Class XII Chapter 6 — Application of Derivatives

Maths

dy | .
dy=| < |Ar=——(Ax asy = x?
s [dx] = [M r}

1 1
= 1)=—=10.025
Exiﬂ{) 40

; 401 ;
Hence, the approximate value of ™ is 20 + 0.025 = 20.025.

iy (0-0037):

|
Consider? =%, Let x = 0.0036 and Ax = 0.0001.
Then,

Ay =(x+ m]; (_r}é ={0.{m3?}; {u.uu;ﬁ}lz =({J.{J{J3?}; = 0406

1
= (0.0037)2 = 0.06+ Ay

Now, dy is approximately equal to Ay and is given by,

(v ) 1 } !
dy=| — |Ax= ,_[ir] Rashy el
'\\C?{x} z"ﬂll.\.‘ |
1
. (0.0001)
2+0.06
_ 00001 _ o oo
0.12 )
1
-
Thus, the approximatelalue’of " 0037) ¢ 0.06 + 0.00083 = 0.06083.
|
7 1
(xii) (26.57)

|
g — e}
Consider? =% . Let x = 27 and Ax = —0.43.
Then,

1

Ay = (x+ Ax): - x* =(26.57)F —(27)F =(26.57): -3

|
= (26.57) =3+ Ay

Now, dy is approximately equal to Ay and is given by,
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afv:[d—y]ﬁx: 3[_::}? (Ax) Iiasy:_rﬂ
=ﬁ{-¢;~.43)

=ﬂ=_010]5
27

1
Hence, the approximate value of{%'ﬂ]] is 3 + (—0.015) = 2.984.

(xiii) {SI'S]‘% | Q’:ﬁ
N

Consider? =", Let x = 81 and Ax = 0.5. \B\

Then, Q)
1 1 1 |

Ay = (x-+ Ax)f — (x)i = (81.5)i  (81)i =(81.5)+

. .
:{EI.S)4=3+ﬂy f“g)
Now, dy is approximately equal x%ven by,

|
dy=(ﬁ] = (av) \ asy=x*1

%%} 0.0046

)
Hence, the approximate value of{gl's] is 3 + 0.0046 = 3.0046.

3
(3.968):

(xiv)

1

PR—
Consider? =% . Let x = 4 and Ax = — 0.032.
Then,

3
5

] 3 3 3
Ay =(x+Ax) —x* =(3.968)2 —(4) =(3.968)2 -8

3
= (3.968)2 =8+ Ay
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Now, dy is approximately equal to Ay and is given by,

1

LI 7 I
dy = ;ri m—:%{x}r (Ax) asy=x*
Lax) L
_z 'r}{ D{T‘"]
= Z[H 032
= —(1.096

3

3.9
Hence, the approximate value of[ 63}

vy (B215)5

|
Consider? =¥ . Let x = 32 and Ax = 0.15.
Then,

i 1 I I 1
Ay = (x+Ax)s —x° = (32.15)5 —(32)¢ =(32.15)7 =2

= (32.15) =2+ Ay

Now, dy is approximately equal totAy andis given by,

P 1
dy = ﬂ .-‘w:%-[m-] 'aﬁ_v:_'c-‘
ey ) S{Jc}f L
Ly 15§
ﬁA(E}
= 015 R oss7
80

32.15)s
Hence, the approximate value of[ 2.1 } is 2 + 0.00187 = 2.00187.

Find the approximate value of f (2.01), where f (x) = 4x* + 5x + 2

Answer

Let x = 2 and Ax = 0.01. Then, we have:

f(2.01) = f(x + Ax) = 4(x + Ax)* + 5(x + Ax) + 2
Now, Ay = f(x + Ax) — f(x)

"is 8 + (—0.096) = 7.904.
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O f(x + Ax) = f(x) + Ay

. F(x)+ 1 (x)-Ax (as dx = Ax)
= f(2.01) = (45" +5x+2) + (8x+5) Ax
=[4(2) +5(2)+2]+[8(2)+5](0.01) [asx=2 Ax=001]
=(16410+2)+(16+5)(0.01)
=28+(21)(0.01)
=28+0.21
=2821

Hence, the approximate value of f (2.01) is 28.21.

Find the approximate value of f (5.001), wherglf (xX)i=«" =~ 7x*> + 15.
Answer

Let x = 5 and Ax = 0.001. Then, we have:
F(5.001) = f{x+Ax)=(x+Ax) =7 (x +A%) %15

Now, Ay = f(x+Ax)— f(x)

j'{x + ﬂ'u.'} = fl[r] + Ay

~ _f{.x‘_l + £ x)-Ax {as dy = ﬂu}
= f(5.001) = (x Ak % 15) H{3 —14x) Ax
=[(5) “aB) 15 | +[ 3(5)" -14(5) ] (0.001) [x=5,Ax=0.001]
=(125-175+15)+ {?5-7:}][111}1}1)
=-35+(5)(0.001)
= -35+0.005
=—34.995

Hence, the approximate value of f (5.001) is —34.995.

Find the approximate change in the volume V of a cube of side x metres caused by

increasing side by 1%.
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Answer
The volume of a cube (V) of side x is given by V = x°.
(T
)
= [ﬁ.rj].-*\r
= (3" )(0.01x) [as 1% of x is 0.01x]
=0.03x"

Hence, the approximate change in the volume of the cube is 0.03x> m>.

Find the approximate change in the surface area of a cube.of side’x metres caused by
decreasing the side by 1%
Answer

The surface area of a cube (S) of side x is given by'S = 6x°.

ds _(dS
=(12x) Ax
=(12x)(0.01x) [as 19 ¥is 0.01x]
=0.12x"

Hence, the approximate changetin the surface area of the cube is 0.12x> m?.

If the radius of a sphere is measured as 7 m with an error of 0.02m, then find the
approximate error in calculating its volume.

Answer

Let r be the radius of the sphere and Ar be the error in measuring the radius.
Then,

r=7mandAr=0.02m

Now, the volume V of the sphere is given by,
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.
V=—mr

3
dV

Jo—— =4t
»

ndV =| ﬂ]m
\ dr
:{_411:'3]1*.:'
=4n(7)°(0.02) m* =3.92x m’

Hence, the approximate error in calculating the volume is 3.92 n m?;

If the radius of a sphere is measured as 9 m with an error'of'0.03 m, then find the
approximate error in calculating in surface area.
Answer
Let r be the radius of the sphere and Ar be the error in measuring the radius.
Then,
r=9mandAr=0.03m
Now, the surface area of the sphere (S) isgiven by,
S =4nr?
ds

S — =Ry
v

[(dS)
dr )
= (8mr)Ar
=81(9)(0.03) m”
2.16m m*

Hence, the approximate error in calculating the surface area is 2.16n m?.

L dS Ar

If f (x) = 3x*> + 15x + 5, then the approximate value of f (3.02) is
A. 47.66 B. 57.66 C. 67.66 D. 77.66

Answer
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Let x = 3 and Ax = 0.02. Then, we have:
£(3.02) = f(x+Ax)=3(x+Ax)" +15(x+ Ax) +5
Now, Av= f(x+Ax)- f(x)
= f(x+Ax)= f(x)+Av
= f(x)+ f(x)Ax (As dx = Ax)
= [(3.02) = (3" +15x+5) +(6x+15) Ax
=[3(3)" +15(3)+5 | +[6(3)+15](0.02) [Asx=3, Ax=002]
=(27+45+5)+(18+15)(0.02)
= 77+(33)(0.02)
=77+0.66
=77.66
Hence, the approximate value of f(3.02) is 77466.

The correct answer is D.

The approximate change in thewvolume of a cube of side x metres caused by increasing
the side by 3% is
A. 0.06 x> m*> B. 0.6 x’ m’ C. 0:09 x> m> D. 0.9 x*> m?
Answer
The volume of a €ube. (W), of side x is given by V = x°.
()
= (3x7 ) Ax
=(3x7)(0.03x) [As 3% of x is 0.03x]
=0.09x" m’

Hence, the approximate change in the volume of the cube is 0.09x> m>.

SodV

The correct answer is C.
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Find the maximum and minimum values, if any, of the following functions given by
() f(x) = (2x — 1)% + 3 (ii) f(x) = 9x* + 12x + 2

(i) f(ix) = —(x = 1)+ 10 (iv) g(x) = x> + 1

Answer

(i) The given function is f(x) = (2x — 1)? + 3.

It can be observed that (2x — 1)* > 0 for every x 1 R.

Therefore, f(x) = (2x — 1)*> + 3 = 3 for every x O R.

The minimum value of fis attained when 2x — 1 = 0.

L1y (L0 ),
J |k5;|=k2-5—|)‘ —J= .

OMinimum value of f =
Hence, function f does not have a maximum-value.
(ii) The given function is f(x) =.9x% % 12x 42 = (3x + 2)% — 2.
It can be observed that (3x + 2)2 = 0 for every x O R.
Therefore, f(x) = (3x + 2)> — 2= —2 for every x [0 R.
The minimum value of f is attained when 3x + 2 = 0.
=2

x=%=
3x+2=00 3
\ :(3

A %,

2y Y
[T' |+2W -2=-2
2]

F 7
(=5

OMinimum value of f= % - 4

Hence, function f does not have a maximum value.

(iii) The given function is f(x) = — (x — 1) + 10.

It can be observed that (x — 1)? > 0 for every x O R.

Therefore, f(x) = — (x — 1)> + 10 < 10 for every x O R.

The maximum value of f is attained when (x — 1) = 0.

(x-1)=00x=0

OMaximum value of f = f(1) = — (1 — 1)> + 10 = 10
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Hence, function f does not have a minimum value.
(iv) The given function is g(x) = x> + 1.

Hence, function g neither has a maximum value nor a minimum value.

Find the maximum and minimum values, if any, of the following functions given by
MHfxX)=Ix+2]-1(i)gx)=—-|x+1] +3

(iii) h(x) = sin(2x) + 5 (iv) f(x) = |sin 4x + 3|

(V) h(x) =x+4,x= (-1, 1)

Answer
. x+2(-1

(i) f(x) = |
2 =

We know that T '| - ﬂfor every x O R.
e+2[-1=-1

Therefore, f(x) = for every x O R.

The minimum value of fis attained when x+2| =U.

x—~2| =1

== x=-2

5‘-!— 1N -] =—
OMinimum value of f = f(—2) = fz -| | I

Hence, function f dees notshavea maximum value.

(i) gy =

x+1{ =0

We know that for every x (0 R.

—lx+1+3=
* I| 3_31‘orevernyR.

r+1)=0

Therefore, g(x) =

The maximum value of g is attained when'"
x+1[=0
=x=-1

—|-1+1/+3=3
OMaximum value of g = g(—1) = 1+11+3=3

Hence, function g does not have a minimum value.
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(iii) h(x) = sin2x + 5
We know that — 1 < sin 2x < 1.
O0-14+5<sin2x+5<1+5
H4<sin2x+5<6

Hence, the maximum and minimum values of h are 6 and 4 respectively.

(V) F(x) = sin4x + 3|

We know that —1 < sin 4x < 1.
O2<sind4x +3< 4

0o < sin-il,r+3|< 4

Hence, the maximum and minimum values of f are 4 and 2 respéctively.
(Vh(x)=x+1,x0 (-1, 1)

i-l-l{l“ +1
Here, if a point xp is closest to —1, then we find 2 forall xo OO (-1, 1).
x +1
x, + <B4
Also, if x; is closest to 1, then 2 for all x; O (-1, 1).

Hence, function A(x) has neitherfmaximum nor minimum value in (-1, 1).

Find the local maximaand loeal'minima, if any, of the following functions. Find also the
local maximum and thedocal minimum values, as the case may be:
(i). f(x) = x? (ii). g(X) = — 3x
T
r<—
(iii). h(x) = sinx + cos, 0 < 2 (iv). f(x) = sinx — cos x, 0 < x < 2n

(V). f(x) = x> — 6x>+ 9x + 15

-

g{.\']:i Fo x>0
(vi). 2 x
N
(vii). Ay 42
(viil). f'l[.r:l—,r\m,.r:»ﬁ
Answer
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(i) f(x) = x*
sf(x)=2x
Now,
f(x)=0=x=0

Thus, x = 0 is the only critical point which could possibly be the point of local maxima or

local minima of f.

f'(0)=2

We have , which is positive.

Therefore, by second derivative test, x = 0 is a point of local minima, and local minimum
value of fat x = 0 is f(0) = 0.

(i) g(x) = x> = 3x

sg'(x)=3x"-3

Now,

g'(x)=0=3x" =3= x =4I

g'(x)=6x

g{”—é%ﬂ

g'(-1)=—-6<0

By second derivative test, x = 1 Is a,point of local minima and local minimum value of g
atx=1isg(l) =1° - 3 =1 = 3= =2, However,

x = —1 is a point of 1ocal maxima and local maximum value of g at
x=-1isg(1l) =(=1E "8 1)=-1+3=2,

b
(iii) h(x) = sinx + cosx, 0 < x < 2

W (x) = cosx —sin x

"y
I

F;’{x}=1}:>5in.r=cnsx:>tanx=I:x=EF 0, kil
4 2

A
h“’{x} =—5iNX—COs5X = —{sin x4+ cos _\')

\ .\
i i I

?'[l
—_— :—|—_+

| 2 _ 5.0
S —— =2 <
f —
VA AN2Z N2 2

Page 77 of 138



Class XII Chapter 6 - Application of Derivatives Maths

=
Therefore, by second derivative test,

£

is a point of local maxima and the local

=2 .&[E]=5in3+ms£=L L =42
maximum value of h at 4is 4 4 4 2 ‘*'I'_
(iv) f(x) = sinx —cos x, 0 < x < 2n
f'(x)=cosx+sinx
f’{.x]:lli::»-:-::3.:c=—s.l'n.>c::~1:s.n.x:=—l::»:c—3—?IE (0,2m)
f"(x)=-sinx+cosx o5
3 3n 3 (. “’\é\‘\
T T V
" — —31n—+cos— ———— 2=0 ). ¢
/ [ 4] 4 J‘ 27 . \x?}

N
Tn Tn Tn 1 \ :
"l — —s1n—+cos— =420 o
f[ ] 4 \1"_ 4 c\

. & 4
Therefore, by second derivative test of local maxima and the local
in
r=—
maximum value of f at 4 is

m in 3m I

f(—)—sm——coq—- 7
4 4 ; \,Q}@

& Tn Tn in ?n__L_L:_
\\ _r:Tisf[—]—smT—ms—— \E NG ~."E

the local minimum of fat 4
(V) fix) = x> — 6x* + 9
S (x)=3x"—12x+9
['(x)=0 =3(x —4x+3)=0
= 3(x—1)(x-3)=0
=x=13

Now, /"
(x)=6x-12=6(x-2)
ff(1)=6(1-2)=-6<0
f(3)=6(3-2)=6=0

i

However, 4isa point of local minima and
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Therefore, by second derivative test, x = 1 is a point of local maxima and the local
maximum value of fatx =1isf(1) =1 -6 + 9 + 15 = 19. However, x = 3 is a point of
local minima and the local minimum value of fat x = 3 is f(3) = 27 — 54 + 27 + 15 =
15.

-
g(x =242 x50
(vi) z X
. I 2
gl\x)l=-——=
(x) 2 x
Now,

]

. . 1 2
g(x}:ﬂgwes. 1:j_>x‘:4_>x:i2
X

Since x > 0, we take x = 2.

Now,
4
x

()=t -1
2’ 2

Therefore, by second derivative test, x = 2 is a point of local minima and the local

F=—=141=2.

ra [
o | b

minimum value of g at x = 2 is g(2) =

g(x)=——4

(vii) N x° 42
—( 2
g'(-\'}=%
.\"+2J
(
g'(x)=0=- — -=0=>x=0
1x3+2}

x)=0.

:I"
Now, for values close to x = 0 and to the left of O,E‘ { Also, for values close to x =

0 and to the right of O,gr {x}{ﬂ.
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Therefore, by first derivative test, x = 0 is a point of local maxima and the local

| 1
g(0)is—— =1,
maximum value of 0+2 2

(viil) Sx)=xdl=x, x>0

L f(x)= +Xx- ! ~)=l-x-— 2
s ff(x)=1-x zm{ )=

_2(1-x)—x _ 2-3x

2i—x  21-x |
.f'(x]:ﬂﬁjj]i_xx:{}:@—h:{]::»x: Qjﬁ
ﬂ(—:u)—{z—sx)[w;‘__x] &
@)

s

m[—3}+{2—3x}(2m]

2(1-x)

_ —6(1-x)+(2-3x)
(i)

s | b2

I | =

f'(x)=

2
r==
Therefore, by second derivative test, Jisa point of local maxima and the local
2
r==
maximum value of f at 3is
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1(3]_ __E 1__2 _
L3 J\' 373\3 W39

Prove that the following functions do not have maxima or minima:
(i) f(x) = e (i) g(x) = logx

(i) i(x) = x> + x* + x + 1

Answer

i. We have,

f(x) = e*

f'x)=e"
f(x)=0, thene" =0

Now, if . But, the exponential function can never assume 0 for any

value of x.
SAc)=0.

Hence, function f does not have maxima or minima.

Therefore, there does not exist c[d R such that
ii. We have,
g(x) = log x

é:'(r}%

Sincelog x is defined foraypesilive number x, g'(x) = 0 for any x.
g'(e)=0

Hence, function g does not have maxima or minima.

Therefore, there does not exist c[1 R such that

iii. We have,
h(x)=x*+x*+x+ 1
B(x)=3x"+2x+]

Now,

.
h(x)=003x2+2x+1=00 6 3

Page 81 of 138



Class XII Chapter 6 — Application of Derivatives Maths

Therefore, there does not exist c[d R such that h {(} - U,

Hence, function h does not have maxima or minima.

Find the absolute maximum value and the absolute minimum value of the following

functions in the given intervals:

flx)=x"xe[-2.2] (i) f(x)=sinx+cosx,xe [U.rr ]

(M

.f'[.r}—ﬂf,r——l,rz,.re _2,%
(iii) 2 | 2
(iv) -f'{-"}={f—1}:+3,.re[—3,|]
Answer

(i) The given function is f(x) = x°.
s (x) =327

Now,

f(x)=0 = x=0

Then, we evaluate the value of fat critical point x = 0 and at end points of the interval

[-2, 2].
f(0) = 0

f(-2) = (-2)° = <8
f2)=(27°=8

Hence, we can conclude that the absolute maximum value of fon [-2, 2] is 8 occurring
at x = 2. Also, the absolute minimum value of fon [—-2, 2] is —8 occurring at x = —2.
(i) The given function is f(x) = sin x + cos x.

nff(x)=cosx—sinx

Nowy,

. ) T
f(x)=0 = sinx=cosx = tanx =1 ;“'.T—E

x=
Then, we evaluate the value of f at critical point

=(A

and at the end points of the

interval [0, n].
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f'[n\—sinn+msn— I + 1 _ 2 _
' 4J | 4 2 2 2
.f'[ﬂ}=5inﬂ+c05ﬂzﬂ+1=]

f(rn)=sinm+cosm=0-1=-1

2

Hence, we can conclude that the absolute maximum value of fon [0, n] is I-Ecurring

T
r==
at 4 and the absolute minimum value of f on [0, n]is —1 occurring at x = n.

fx)=4x lx:.
(iii) The given function is 2

= f(x)= 4_%(21'} =4-x

MNow,
f(x)=0 = x=4

Then, we evaluate the value of f at critical point X = 4 and at the end points of the

_ 5
2y _}

) 2

interval- =,

f(.;}:]ﬁ—%(lﬁ}:]ﬁ— 8=8§

;‘(-2]:_3_%(4‘]_--3- 2 4"

(oY (9 1/9p 81
;‘L_\ 4| =|-= _—W S8~ ~18-10.125=7.875
2)  \2) 2.2 8

9
2]
Hence, we can conclude that the absolute maximum value of fonk “=Jis 8 occurring
- 9
2

-2,

at x = 4 and the absolute minimum value of fon - }is —10 occurring at x = —2.

-

fx)=(x-1) +3.

(iv) The given function is"
L) =2(x-1)

Now,
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.f.ﬂ{x}=[“}_>2(x_ 1)=00x=1

Then, we evaluate the value of f at critical point x = 1 and at the end points of the
interval [-3, 1].

F()=(1-1) +3=0+3=3

F(=3)=(-3-1)"+3=16+3=19

Hence, we can conclude that the absolute maximum value of fon [—3, 1] is 19 occurring

at x = =3 and the minimum value of fon [-3, 1] is 3 occurring at x = 1.

Find the maximum profit that a company can make, if the profit function is given by
p(x) = 41 — 24x — 18x?
Answer

The profit function is given as p(x) = 41 — 24x = 18x%
Sop'(x)=-24-36x

p'(x)=-36
MNow,
-24 2
px)=0 = x=—r=
36 3
Also,
i =) A
T—1==36<0
4€y
2
==
By second derivative test, 3 s the point of local maxima of p.
I ,..\_I
. Maximum profit = ;J[ -
b 3‘2'
[ 2 (2y
=41-24 —:W—IB ——
oa) o)
=41+16-8§
=49

Hence, the maximum profit that the company can make is 49 units.
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flx)=x"4 L,I,.r;‘-{j
X

Find the intervals in which the function f given by is
(i) increasing (ii) decreasing
Answer
. |
Xj=x"+—
Fx) =3+
_ , 3 3x"-3
S x)=3x——=
f(x)=30 =2
Then, f'(x)=0=3x"-3=0=x"=1=x=1%]
Now, the points x = 1 and x = —1 divide the real line intosthree disjoint intervals
i.e.,{—-::,—l}.[—l.l}.and (1,20).
In intervals{_m'_l} and “T} i.e., when x < =l and'x > 1,"" “} >0

Thus, when x < —1 and x > 1, fis increasing.

S x)<0.

Ininterval (-1, 1) i.e., when =1, <X <1, .

Thus, when —1 < x < 1, fis decreasing.

At what points in"the interval [0, 2n], does the function sin 2x attain its maximum value?
Answer

Let f(x) = sin 2x.

S (x)=2cos2x

Now,
f'(x)=0 = cos2x=0
A T It Snm Tn
= 2x=—, —, —, —
2 2 2 2
T 3m 5 T
=2 X=—, —, —, —
4 4 4 4
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3 5 Tn

¥ = —_— —,
4 4 4 and at the end

Then, we evaluate the values of f at critical points

|8

points of the interval [0, 2n].

(m . W 3n Y
j[I]aﬂ.m;:LI(T]=smT=—I

= \

_f[%]=sin5?“=I-_f[T—E]=sin?—x=—l

S(0)=sin0=0, f(2x)=sin2n =0
Hence, we can conclude that the absolute maximum value of fon [0,.2n] is occurring
T Sm

¥ =—

Xr=— 2
at  “4and 4

What is the maximum value of the function sin x +.cos x?
Answer
Let f(x) = sin x + cos x.

o f'(x)=cosx—sinx

. . 5

__r"{x] —0 = sinx=coSx = tan YA -Px ==, 2T
4 4

f"{x] = —sinx — cos 3 — (sigr ¥k x)

f(x)

are both positive. Also, we know that sin x and cos x both are positive in the first

)

xe [[}
will be negative when 4,

Now, will be negative when (sin x + cos x) is positive i.e., when sin x and cos x

I (x)

quadrant. Then,

xX=
Thus, we consider

fnf:]z—(sinz+u}521=—[é]=—ﬁ{{}

\ \ /

=|A

A
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T
==
OBy second derivative test, f will be the maximum at 4 and the maximum value of f

4

il ] 1 2 I
— —sm—+ms——— —=—==42
f‘ | 4 E \."f_ \-'IZ

is

Find the maximum value of 2x®> — 24x + 107 in the interval [1, 3]. Find the maximum
value of the same function in [-3, —1].

Answer

Let f(x) = 2x° — 24x + 107.

o f'(x) =637 —24 = 6(x* - 4)
Mow,

S'(x) {1::»6(1'1—4:] 0= x'=4=x=42

We first consider the interval [1, 3].

Then, we evaluate the value of f at the critical'point x = 2 0 [1, 3] and at the end points
of the interval [1, 3].

f(2) = 2(8) — 24(2) + 107 = 16 —= 48 + 107 = 75

f(1) =2(1) — 24(1) + 107 = 2 — 24 +107 = 85

f(3) = 2(27) — 24(3) 4+ 107 =54 - 72 + 107 = 89

Hence, the absolute. maximum value of f(x) in the interval [1, 3] is 89 occurring at x =
3.

Next, we consider the interval [-3, —1].

Evaluate the value of f at the critical point x = —2 O [—-3, —1] and at the end points of
the interval [1, 3].

f(=3) =2 (-27) — 24(-3) + 107 = =54 + 72 + 107 = 125

f(-1) =2(-1) - 24 (-1)+ 107 = -2 + 24 + 107 = 129

f(—2) = 2(—-8) — 24 (-2) + 107 = —16 + 48 + 107 = 139

Hence, the absolute maximum value of f(x) in the interval [-3, —1] is 139 occurring at x
= —2.
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It is given that at x = 1, the function x*— 62x*> + ax + 9 attains its maximum value, on
the interval [0, 2]. Find the value of a.

Answer

Let f(x) = x* — 62x*> + ax + 9.

L f(x)=4x"-124x+a

It is given that function f attains its maximum value on the interval [0, 2] at x = 1.

.'._f"{]}:l.’}
=4-124+a=0
= a=120

Hence, the value of a is 120.

Find the maximum and minimum values of x # sin'2x on [0, 2n].
Answer

Let f(x) = x + sin 2x.

L f(x)=142cos2x
. | qr ) 2
Now, f [.r}:ﬂ_>n;:u.k;l\':——=—un5—:4:(}5[rr—— = CO§—
2 3 3
i \ 3 ) J
"
2n /
2x=2m +— nel
3
T
= x=nt—, ne &
3
n 2n 4m Sx
Sx=— 0 — . e[02x]
303 3 3
m 2m 4m Su
Y=y
Then, we evaluate the value of f at critical points 3 3 3 3 and at the end points

of the interval [0, 2n].
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jf' EI|:—+Si|‘|_JI:E+£
3 2
(2r) 2 in 2n 3
¥ _“Jz_xﬂm*h:_tﬁ
|3 3 3 2
AT O I
L3 ) 3 3 3 2
(5a) sn . lon S5m 3
I —‘=—+511'|T= Y

Hence, we can conclude that the absolute maximum value of f(x).in the interval [0, 2n]

is 2n occurring at x = 2n and the absolute minimum value of f(x) in the interval [0, 2n]

is 0 occurring at x = 0.

Find two numbers whose sum is 24 and whose product is as large as possible.
Answer
Let one number be x. Then, the other number is (24 — x).

Let P(x) denote the product of the two numbers. Thus, we have:

P{r} = .1'{24— .'r} = 4% x

P (x)=24-2x
P'(x)=-2

Now,

P'(x)=0 = x=12
Also,
P'(12)=-2<0

OBy second derivative test, x = 12 is the point of local maxima of P. Hence, the product

of the numbers is the maximum when the numbers are 12 and 24 — 12 = 12.

Find two positive numbers x and y such that x + y = 60 and xy> is maximum.
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Answer
The two numbers are x and y such that x + y = 60.
Oy =60-x
Let f(x) = xy*>
= f(x)=x(60-x)
o f'(x)=(60-x) ~3x(60-x)
=(60-x)"[60-x-3x]
=(60-x) (60 - 4x)
And, ["(x)==2(60 - x)(60 - 4x) —4(60 - x)’
=-2(60-x)[ 60— 4x+2(60-x)]
= -2(60-x)(180—6x)
= —12(60-x)(30—x)

Now, f"(x)=0 = x=60 orx=15

-

When x =60, /" (x)=0.
When x =15, £"(x) = ~12(60 - 15)(B0 - 15) =< 12x45x15 < 0.

OBy second derivative test, x = 15 is apoint of local maxima of f. Thus, function xy? is

maximum when x = 15 and y =60 =715 = 45,

Hence, the required aumbers are.15 and 45.

Find two positive numbears x and y such that their sum is 35 and the product xy° is a

maximum
Answer
Let one number be x. Then, the other number is y = (35 — x).

Let P(x) = x?y°. Then, we have:
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L
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Now, f [r} 0 x = 0, x=35,x=10
When x = 35,f (x)=7(x)=0 and y = 35.~ 35'= 0. This will make the product x? y°
equal to 0.
When x = 0, y = 35 — 0 = 354and the product x?y? will be 0.
O x = 0 and x = 35 cannot be the pessible values of x.

When x = 10, we have:
P"(x)=7(35-10)86 <400 120° 10+ 350)
=7(25) (-250) =8
O By second derivative test, P(x) will be the maximum when x = 10 and y = 35 — 10 =

25.

Hence, the required numbers are 10 and 25.

Find two positive numbers whose sum is 16 and the sum of whose cubes is minimum.
Answer
Let one number be x. Then, the other number is (16 — x).

Let the sum of the cubes of these numbers be denoted by S(x). Then,
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S(x)=x"+(16-x)

28 (x)=3x" =3(16-x)", §"(x)=6x+6(16-x)
Now, §'(x)=0 = 3x"~3(16-x) =0

=" —(16-x) =0

=y’ =256-x"+32x=0

7
Jx:ﬁ:-ﬂ

32
Now, S"{8}=6(8]+6{16—8}:4E$+4E:%}U

[0 By second derivative test, x = 8 is the point of local minima.ef S.
Hence, the sum of the cubes of the numbers is the minimum ‘when the numbers are 8
and 16 — 8 = 8.

A square piece of tin of side 18 cm is to made intosa box without top, by cutting a square
from each corner and folding up the flaps.to'form the box. What should be the side of
the square to be cut off so that.the volume of the box is the maximum possible?

Answer

Let the side of the square to beseut off be x cm. Then, the length and the breadth of the
box will be (18 — 2x)fem eachand.the height of the box is x cm.

Therefore, the volume V(x) of'the box is given by,

V(x) = x(18 — 2x)*
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=—12(9-x+3-x)
=-12(12-2x)
=-24(6-x)

Now,V'(x)=0 = o Sorxe3

If x = 9, then the length and the breadth will become 0~
Sox #F 9.

=x = 3.

Now, V'(3)=-24(6-3)=-72<0

- By second derivative test, x = 3is,the point of maxima of V.

Hence, if we remove a square of side 3 em from each corner of the square tin and make

a box from the remaining sheet; then the volume of the box obtained is the largest

possible.

A rectangular sheet of tin 45 cm by 24 cm is to be made into a box without top, by

cutting off square from each corner and folding up the flaps. What should be the side of

the square to be cut off so that the volume of the box is the maximum possible?

Answer

Let the side of the square to be cut off be x cm. Then, the height of the box is x, the

length is 45 — 2x, and the breadth is 24 — 2x.

Therefore, the volume V(x) of the box is given by,
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Vi(x)=x(45-2x)(24-2x)
= x(1080—90x - 48x +4x7 )
=4y’ —138x" +1080x
SV (x)=12x" —276x+1080
12(x* —23x+90)
=12(x-18)(x-5)
V" (x)=24x-276 =12(2x—23)

F'(x)=0

Now, “} ( —x=18andx =5

It is not possible to cut off a square of side 18 cm from each corner.of the rectangular
sheet. Thus, x cannot be equal to 18.

Ox =5

Now, V'(5)=12(10-23)=12(-13)=-156 <0

- By second derivative test, x = 5 is the pointiof maxima.
Hence, the side of the square to be cut off'to. make the volume of the box maximum

possible is 5 cm.

Show that of all the rectangles.inscribed in a given fixed circle, the square has the
maximum area.

Answer

Let a rectangle of length /'and breadth b be inscribed in the given circle of radius a.

Then, the diagonal passes through the centre and is of length 2a cm.

Now, by applying the Pythagoras theorem, we have:
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(2a) =P +¥°
= b =da’ - F

= b=+da -1’

iz
OArea of the rectangle, A=NN4a" -1

2
% =da' -I" +1 Via' =17 - /

1
—— (20} = —
244{:3—;2{ ) NEP Oy L

_da’ 20
T g2 2 2 {_ﬂ) \
ia Vaa® — 1 (~41)—(4a* -2 )2 — ' \Q)
dr - (4a° - 1) \S\‘

(40 1) (40) +i(4a? - 20 \\Q)
{4(;2 -’ }E %

a2 <26 -1)
- 3 3

(s r)

1*~~Jw.r,ﬁ =0 gives da” =2/ :»Q) u
dl 4 g,
= h = {/!_&K!“?=ﬁa

Now. when / = v2a.

d’A _ -2(+2a)(6a" - 20") _8V2d' _ a0
dr 2J24° 224

-+ By the second derivative test, when! = \Eﬂ, then the area of the rectangle is the

e

]

maximum.

Sincel =b = “Eﬂ, the rectangle is a square.
Hence, it has been proved that of all the rectangles inscribed in the given fixed circle,

the square has the maximum area.
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Show that the right circular cylinder of given surface and maximum volume is such that
is heights is equal to the diameter of the base.

Answer

Let r and h be the radius and height of the cylinder respectively.

Then, the surface area (S) of the cylinder is given by,

S =2 +2nrh

§=2m
===
2nr
ifl]_,.
2mis
Let V be the volume of the cylinder. Then,
s .| S 5 )
Vanrh=m|— —]—f .
2alr, 2
i 8§ d’v
Then, “— == —3m?, e
dr 2 dr-
JFI"; y ] bl S
Now, * 0= I = A—
elr 2 Gm
7
.S R
When r~ = —. then — bm r—E {<0.
on or {:‘H‘ G |
A
s &
r=—
O By second derivative test, the volume is the maximum when om
.8 or (1)
Now, when - =—, then i= ad | - |—1' =3r—-r=2r
on 2o )

Hence, the volume is the maximum when the height is twice the radius i.e., when the

height is equal to the diameter.

Of all the closed cylindrical cans (right circular), of a given volume of 100 cubic
centimetres, find the dimensions of the can which has the minimum surface area?
Answer

Let r and h be the radius and height of the cylinder respectively.
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Then, volume (V) of the cylinder is given by,
V=ar*h=100 (given)

100
= 7

Sl

Surface area (S) of the cylinder is given by,

1 e 2
S=2nr" +2nrh=2nr" +E
-

S 200 d°S 400
So—=dar———. —=d4n+—
dr e dr” r
ﬁ =0 = 4ar= @
dr e
;200 50
=y ==
4n T

()

- 50 dS
MNow, it is observed that when r = —) . N
fir dr
OBy second derivative test, the surface area is the minimum when the radius of the
a0
[— | cm
cylinder is* ™
[ |
5003 R0 2x=50 504
thnrz[- ] Y - - x ,-=2{ CITL.
T S0 (sop () "/
!

Hence, the required dimensions of the can which has the minimum surface area is given

- I
I”Sli}].1 [S{]].‘
— | cm 21— | cm.
by radius = ~ and height = T
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A wire of length 28 m is to be cut into two pieces. One of the pieces is to be made into a
square and the other into a circle. What should be the length of the two pieces so that
the combined area of the square and the circle is minimum?
Answer
Let a piece of length / be cut from the given wire to make a square.
Then, the other piece of wire to be made into a circle is of length (28 — /) m.
I

Now, side of square = 4

2nr =281 r=—(28-1).
Let r be the radius of the circle. Then, <N

The combined areas of the square and the circle (A) is givenibyy

A =(side of the square} + #*

- f;+x[2]n (28 I}T

=~ 1

= —(28-1)
16 4n[ )
dd 21 2 ! 2"
L= (28N (-1) = A (28
dl 16 4:rz( 1) 8 21:{ )
d_f:l+L}ﬂ
dli* 8 2=
Now, EE:U =% ' 1—(26 N = ()
dl B
— IR _
o 4(28 o
8n
= (m+4)1-112=0
“
e 112
n+4
- 2
o112 dA

Thus, when T+4 dl’

= 112
"By second derivative test, the area (A) is the minimum when  ®+4 .
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Hence, the combined area is the minimum when the length of the wire in making the

112
square is T+4 cm while the length of the wire in making the circle
112 28
28 L cm
is n+4d T+4

Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is
8

27 of the volume of the sphere.
Answer

Let r and h be the radius and height of the cone respectively inscribed in a sphere of

radius R.

Let V be the volume of the cone:
1 .
V==mrh
Then, 3

Height of the cone is'given.by,

= r _ T 1 1 o
heRr+ap- RHVR = [ABC is a right triangle]
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]
o =E:r[r2 (R—FN'IRI—I'I)
1 1
= R+ - R -
3 3

N dV:zm‘R-i-err Rz—rz-lrlm'z- {—2!‘}

“dr 3 3 3 2SR — 2

2 2 S
= wR+ SR - -
3 3 3 R~

. EM{RZ —s'*z}—m'“1

2 ;

3 N %
2 R+ ek =3 ®

3 3 'IIRI _rz 'S Q

WR -2 (21:522 _9”2)_ (zmaz - . \’
a3 ‘}(Rz—rl)

2 9{-"5’2 —FI)(ZnRz—Qﬂrl]+2nr2 '

= 4R — 4R =9 + 4R —127°R°

=0 =88R

. 8
= =—R
. 8 d'v
When r* =— 1", then—— < 0.
9 dr-
8
=R,
[0 By second derivative test, the volume of the cone is the maximum when 9
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thnr::ERf_ h=R+ IIR“’—§R3:R+ lRE:RJrE:iR_
9 9 9 3 3

Therefore,

Y4 ™
:lnﬁfefjti;ﬂ
309 3
_8 (4R
2713

8 .
= ;x{‘v’olume of the sphere)

.

. N N8
Hence. the volume of the largest cone that can be inscribed in the sphire'is -

the volume of thesphere.

Show that the right circular cone of least curved surface and given volume has an

altitude equal to V2 time the radius of the base.

Answer

Let r and h be the radius and the height.(altitude) of the cone respectively.

Then, the volume (V) of the cone'is given as:

1, 3V
V=—mrh=h=- 4
In p

The surface area (S) of the eone is given by,

S = nrl (where | is the'slant height)

=i+ 0

2.4 2

wr nr

. 9w N+ VP
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6m’r =
—Nart 9yt

re
RO Sk N e
dr r
B Rt L

.F"-I IIT.[?J‘E' + gL;?

B o ]
it 40
B 2n°r® —9¥?
r.'-!_\,'ﬂﬂrl's +QV}!
das . 5 g)?
Now,— =0=2n"r" =9)" = " = —
o 2
oV d's
rt=— ,f — = Ok
Thus, it can be easily verified that when 27 el
)
F o= 7
[0 By second derivative test, the surface area of the cone is the least when 2
1
. 9 V3 (28" P8 W2
When r' =—, h=— . Jﬁ J J2r,
2 nre omr o i 3

Hence, for a given volume, the right eircular cone of the least curved surface has an

pa
altitude equal to V2 fimes theradius of the base.

Show that the semi-vertical angle of the cone of the maximum volume and of given slant
-

height is lan V2,

Answer

Let @ be the semi-vertical angle of the cone.

e [ﬂ. E},
It is clear that 2

Let r, h, and / be the radius, height, and the slant height of the cone respectively.
The slant height of the cone is given as constant.
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Now, r=/sin@8and h =/cos 6

The volume (V) of the cone is given by,
| I

V=—m
] 3 .2 ‘
=§:r|:(f'sln'€}(fc-:!59) ’&
=5ﬂf sin” fcosd . Q
k!
ﬁ:f_ﬂ: sin” @(~sin @) +cos@(2sindcost) Vz\)\\\
de 3
=’I-Tﬂ[—sin3+25inﬂcuslld] |
dEV 3

_ = l[—S sin’ @cos? + 2cos’
da° 3

3
= I—E[Ecns3 @ - Tsin’* Ocos
3 <

Now,

2o @

= sin’ @ =2sin@c

=tan’@=2
::—tanE:\,E
=@ =tan'2

Now, when # =tan' /2. thentan® # =2 or sin” # =2cos” 6.
Then. we have:
d'V_I'n

—2=—[2c(1533—l4w53€]:—4itf3£.:053l} <) for A e [ﬂ, E}
dé 3 2

-1
OBy second derivative test, the volume (V) is the maximum when f=tan"' 2 .
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Hence, for a given slant height, the semi-vertical angle of the cone of the maximum

. -1 [
volume is lan \-"r:

The point on the curve x? = 2y which is nearest to the point (0, 5) is
' -~
(©) (0, 0) (D) (2, 2)

Answer

The given curve is x> = 2y.

( fJ
X, 3
2

For each value of x, the position of the point will be "

i ¥
X, T
The distance d(x) between the points \ ~ “@and (0, 5) is given by,
f T
, 2 [, 5 S .
d(x)= J(x=0) +| =5 | =[xl Z 425 5x = [ —4x? 425
\ D s V4
x - 8x (- 8%
.'.d'{.t} :(—} = — _——}—
[ oo ‘ .'I 1 P1A 2
5 Il.x A5 A 16x" +100
V4

Now, d'(x)=0=> X =8r=y
= x v =gy

= x=0.£22
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S 167 2100 (35" 8) (8 ¥ 32

245t —16x7 +100
(f —16x + mu)

_ (x* =165 +100) (35" —8)=2(x" - 8x)(x"—8x)

And.d"(x)=

(x* -16x7 +1-:]-:]}§

(«* 1627 +100) (337 - 8) -2’ ~8x)’

(.r* —16x7 + m[:-);

x=0,thend"(x)= 30(8)

When, 6’ . \§®
=322, d"(x)>0 \\\\

When,

OBy second derivative test, d(x) is the minimu \ "*'I'_
(242)
=4, ‘Q

xr= +2-u"_ y=—
When 2
Hence, the point on the curve x“'= ich is nearest to the point (0, 5) is

(ﬂﬁ, 4]

Question 28:
l1-x+x°
For all real values of x, the minimum value of I+x+x" s
(A)o(B)1

1
(©)3 (D) 3

Answer

l-x+x°
et e
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()= {]+-“+12)(—1+2x}—(1—jx+ x7)(142x)

(I+x+x:)'

14+ 2x=-x+2x" = x '+ 2" =1=-2x+x+2x" -x'-2x

(l+x+x2)2

-2 2(x-1)

(]-Hr+.1c1}J (H—.7r+x2)I

S fN(x)=0 = X =1 x=+1

2 (14 x+57) (2x) = (52 = 1)(2) (14 3+ x*)(1+2x) | £
Now. /" (x) = [{ ){ ](|(+1'+3;’]+( ) \kéﬁ
N\

4(]+x+x3)[(l+x+x3)x—[f—l] +2

[l+x+xz]4

4[_r+xz +x—xt=2x ¢ |+2x]®
= . NS

OBy second derivative test, fis the minimum at x = 1 and the minimum value is given

f(1)=
by

The correct answer is D.

1-1+1 1
I+1+1 3.

Question 29:

|
The maximum value of [x[x']}"'ljj 0=x<l <
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I
173

Fa | —

(a) Y3 (B)
(C)1 (D) 0O
Answer

Let flx)= I:J:{.r—l}— 1:|-‘ :
2y -1

= f(x)= A—_
3[x(x—1)+1]"

Now, f'(x)=0 = x= %

1
v =

Then, we evaluate the value of f at critical point_ 2 and at the end points of the
interval [0, 1] {i.e., at x=0and x = 1}.

7(0)=[0(0-1)+ |]-'. L
.f'[|]=[]{l_1}+|:|_|:=1

Hence, we can conglude thatithe maximum value of fin the interval [0, 1] is 1.
The correct answeriis C.
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Miscellaneous Solutions

Question 1:

Using differentials, find the approximate value of each of the following.

5, o
(a) 1) () (33

Answer

} .
(a) Consider 81

Then,&y:[x""i"]"_xd . Q
I !

B E -1._ E 4

_[31] [El]

_[._?% 2

- 31] 3

[
17 2 A
Sl— | =—+ Ay
81 3 -

Now, dy is approxim&y eoé)%y and is given by,
\ 1
=— | \ [asy = x‘)

- : [BII]: 4x3x3I1 =3zlx3 zt;-lﬁ =0.010
[]6}‘
4

1
179, 2
(—J is —+0.010
Hence, the approximate value of 3
= 0.677.

= 0.667 + 0.010

(b) Consider” =% ", Let x = 32 and Ax = 1.
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Ay =+ Ax) - ® = (33) 5 (32)'5 =(33) -

Then,

LA |
S(33) s ==+ Ay

2
Now, dy is approximately equal to Ay and is given by,
|

be(L)a9-—Lew) (s

d 5

(x)¢

I 1
~(1)=- 150 = 0:003

T 5(02) |
| EN

(33) *is L+ 4(-0.003)

A3
Hence, the approximate value of 2 @

= 0.5 - 0.003 = 0.497. \Q)

Question 2:

log:
flx)=
Show that the function given by 6 has maximum at x = e.
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= logx=1
= logx = loge
—=x=e
1
x| — J—(I —log x)(2x)
Now, f"(x)= N =
v—2x(1-logx)
= 3
_ —3+2logx
x.!
Now, f” {e}= —_’ivzlluge. _ —3-:—3 _ —11 <0

e é e
Therefore, by second derivative test, f is the maximum at x =¢.

The two equal sides of an isosceles triangle with fixed base b are decreasing at the rate

of 3 cm per second. How fast is the area decreasing when the two equal sides are equal
to the base?

Answer
Let AABC be isosceles where BC js the base of fixed length b.
Let the length of the two equal sides of AABC be a.

Draw ADOBC.
A
i ol
B » D § C
7 i

Now, in AADC, by applying the Pythagoras theorem, we have:
——

I b

AD=,|a’ ——
\
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-

1., b
Ay=—b,la’ ——
(A) @

|
[0 Area of triangle 2 1
The rate of change of the area with respect to time (t) is given by,
d4 1 b 2a da ah da
dr 2 [, bt dt \Jag —p* di
2, |a =
Vo4
It is given that the two equal sides of the triangle are decreasing at the rate of 3 cm per
second.
i .
qa _ 3 em/ls
0O dr
cdd 3ab

Cdr Vda' - b

Then, when a = b, we have:
ﬁ: ; _—:'ﬁ_ — = _ﬁz—ﬁh
di  Jap'—p* 3

Hence, if the two equal sides aresequalito.the base, then the area of the triangle is

=] 2
decreasing at the rate of V34 c "fs.

Find the equation‘of tha mormal to curve y? = 4x at the point (1, 2).
Answer

The equation of the given curve is? ~ +¥.

Differentiating with respect to x, we have:

2}'£—4
T odx
dv 4 2
dc 2y y
ﬂ} 2
de |, 2
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=1 =1

__:_]

.;{1-} 1
dy 1.2)

[JEquation of the normal at (1, 2)isy — 2 = —=1(x — 1).

Now, the slope of the normal at point (1, 2) is

Oy-2=-x+1
Ox+y—-3=0

Show that the normal at any point 6 to the curve

x=acost+alsin@, y=asinf—allcosd,

Answer

We have x = a cos 6 + a 6 sin 6.

%: —asin@+asin + af cosd = g cosd

y=asinf —afcosf
:j—; =gcosf—acos @+ afsint =afsind

dv dy dfd  afsind
o = ——— = {an ¢
de  df dy ablcosd

[ Slope of the normal at any point 8 is tan
The equation of the'normal at a given point (x, y) is given by,
-1
tan &
= ysinf —asin® @ +af siné cosé = —xcosd +acos’ & + aff sind cos

y—asint + aff cos ) =

(x—acosd —at)sind )

= xcosf + ysinf a{.‘;in: &+ cos’ ﬂ] =1

= xcosf+ ysinf—a=10

Now, the perpendicular distance of the normal from the origin is
—a| 3 |—(I|

TR
veos O+sin” @ J1

=|-d
, which is independent of 6.

Hence, the perpendicular distance of the normal from the origin is constant.

is at a constant distanee from the origin.
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Question 6:

Find the intervals in which the function f given by
f(x)=

is (i) increasing (ii) decreasing

4sinx-2x—xcosx

2+cosx

Answer

1(9=

dsinx=2x—=xcosx

24+cosx

_(2+cosx)(4cosx—2-cosx +xsinx}—{4sinx:2x;®}{ sin x )
Q}‘ )

COS X

L f ()

(2 +~::crs.x}2
B (2+cosx)(3cosx—2+xsinx)+sinx

(24cosx)’

_ 6eosx -4+ 2xsinx+3cos’ x —2cos x cosx +4sin’ x —2xsin x — xsin xcosx

—cosx=0o0rcosx =4

But, cos x # 4

Lcosx =0
T 3n
=S yx==,—
2 2

an.,x:g andx:E—ﬂ

2 divides (0, 2n) into three disjoint intervals i.e.,
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: 3
D{X{’.iﬂ]'ld—ﬂ{_‘({ 2m.
Thus, f(x) is increasing for 2

fn 3my .,
L= = |,/ (x)<0.

T
In the interval\ 2 2/

b1 In
— X< —
Thus, f(x) is decreasing for 2 2,

.
f{x}:.‘r' F—,x =0
Find the intervals in which the function f given/by. X is

(i) increasing (ii) decreasing

Answer

. |
Xj=x"+—
Fx) =3+
" » 3.7 3x"-3
X (JL'}=3.'I:'— Y Y
x
Then, f'(x) =0 Q=0 1" = 1= x =1
Now, the points x = 1 and x = —1 divide the real line into three disjoint intervals

(—o0,—1),(=1.1),and (1,%).

i.e.,

(—o0,—1) and (1,0) f'(x)=0.

In intervals i.,e., whenx < —1and x > 1,

Thus, when x < —1 and x > 1, fis increasing.

f'(x)<0.

Ininterval (-1, 1) i.e., when -1 <x < 1,

Thus, when —1 < x < 1, fis decreasing.
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Find the maximum area of an isosceles triangle inscribed in the ellipse ¢ b with
its vertex at one end of the major axis.

Answer

P
-+ =1
The given ellipse is @ b

Let the major axis be along the xi—axis:
Let ABC be the triangle inscribedin the ellipse where vertex C is at (a, 0).
Since the ellipse is symmetrical with'respect to the x—axis and y —axis, we can assume

the coordinates of A to be (—x;,#1) and the coordinates of B to be (—x;, —y1).
L N G
» AR
Now, we have a
i b ey A
B C T L

)

OCoordinates of A are * /" and the coordinates of B are

( N
| X, ——+Ja —x |
\ a /

As the point (xy, y1) lies on the ellipse, the area of triangle ABC (A) is given by,
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Class XII
1 (2b = b 703 b 5>
A= 5[ Ja'=x0 |+ (=x)| e —x |+(-x)| -—Ja’ - x
a a a
= A=bya’-x +x,£\|’a3—x,1 (1)

dA =2x.b b .'— be,
+ dxl 2.)a’ —r alJa’ —:r
b [—x,m[aZ-xs]-xf]

Now, EI=I[] Q\\\Q

= -2x/ —xa+a* =0 \

. ja =4{=-2)|a )

_aka*-4(=2)(e) |

=>x = 2(2) | &%
oz \Q
_ai3a

pea \Q)

But, x; cannot be equ
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a b a’  ba \Eb
Bl it L s

-2
Ja' —x' (4, —a}—(—Zx,I —-xa+ a*)ﬂ
d'A b 2Ja’ —x;
Now, ——=— T—
X, a a —x

é. ({]‘2 ""',2)['41] — g] + X, (_Exlz _x|ﬁ'+a’]
a

3
: _1y3
(a —x,]I

.T|=

o
Also, when 2 , then

3 3

a a
dx;

o

X, =—.

Thus, the area is the maximum when 2

0 Maximum area of the triangle is given by,

Page 117 of 138



Class XII Chapter 6 — Application of Derivatives Maths

[ p 3 | 2
A:h|a-_i+(3|£ a2 -2
\ 4 12)a\ 4

J3 '/ix'éxfwﬁ
3

§
-
[
S,
=]
)

A tank with rectangular base and rectangular sides, open at the top is to be constructed
so that its depth is 2 m and volume is 8 m>. If building of tank costs Rs 70 per sq meters
for the base and Rs 45 per square metre for sides. What is the'Cost of least expensive
tank?

Answer

Let /, b, and h represent the length, breadth, and height of the tank respectively.

Then, we have height (h) =2 m

Volume of the tank = 8m?

Volume of thetank =/ x b x h

O08=/xbx2

_:>J'b:4_>h=?

Now, area of the base =./b = 4
Area of the 4 walls (A) = 2h (/ + b)
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However, the length cannot be negative.
Therefore, we have | = 4.

4 4
_'_L‘l:— - = 2
12
d’A4 32
W, =
dr T
When/=2 2432 _4.0.
a8

Thus, by second derivative test, the area is the minimum when / = 2.
We have /= b =h = 2.

OCost of building the base = Rs 70 x (/b) = Rs 70 (4) = Rs 280
Cost of building the walls = Rs 2h (/ + b) x 45 = Rs 90_(2)«(2.+2)

= Rs 8 (90) = Rs 720

Required total cost = Rs (280 + 720) = Rs 1000

Hence, the total cost of the tank will be Rs 1000.

The sum of the perimeter of a circle and square is k, where k is some constant. Prove
that the sum of their areas is least whenrthe side of square is double the radius of the
circle.
Answer
Let r be the radius of theicircle and a be the side of the square.
Then, we have:
2wy +4a =k (where k is'Constant)
k—2mr

===

The sum of the areas of the circle and the square (A) is given by,

., ' (k—ji‘t!"}?
A=mr"+a =mr" +—+—
16
2k =2ar)(-2 k-2
L, (k—2mr)( n]zzm_n[ )
dr 16
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A _

Now, 0
dr
alk—2
:»2;11,1‘:1:{—1”'}
8r=k-2ar
=(8+2m)r=k
. k B k
8+2n 2(4+m)
Now, ﬁ=2x+n—_::ﬂ
dr” 2
Whenr=L* ﬁ::-ﬂ'.
2(4m ]I dr
k
F=——"-:%
O The sum of the areas is least when 2{4* }

T k
j_k_' [3{4» )]_k(m e ko 4k &
am )T 4 43w ) 44w )4 w

= 2r.

When » =

Hence, it has been proved that the.sum of their areas is least when the side of the

square is double the radius of the.circle.

A window is in the form of rectangle surmounted by a semicircular opening. The total
perimeter of the window'is 10 m. Find the dimensions of the window to admit maximum
light through the whole opening.

Answer

Let x and y be the length and breadth of the rectangular window.

X
Radius of the semicircular opening 2
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ﬂ
2
o —

X

It is given that the perimeter of the window is 10 m.

bRy
Lx+2v+—=10
-2

= x[l +%]+2y =10

Page 121 of 138



Class XII Chapter 6 — Application of Derivatives Maths

ow, ﬂ =10

= 5—x E.'r:ﬂ
4
I AT
=x l+—|=5
5
. 5 20
) fl ) w4
h, r
20 d*A
x= then —=0.
Thus, when m+4 dx
20
Y=——m

Therefore, by second derivative test, the area is the.maximum when length n+4

Now,

=_;| = m
n+4, w4

ﬂjf3|n] 5(2+m) 4 10

Hence, the required dimensions of the window to admit maximum light is given

W
length = m il breagdthy=s— m.
by T+4 T+ 4

A point on the hypotenuse of a triangle is at distance a and b from the sides of the

triangle.
]
{2 TN
at + b3 -
Show that the minimum length of the hypotenuse is * 4
Answer

Let AABC be right-angled at B. Let AB = x and BC = y.
Let P be a point on the hypotenuse of the triangle such that P is at a distance of a and b

from the sides AB and BC respectively.
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Let OC = 6.

A

B C

We have,

AC=x"+ yz
Now, ®

PC = b cosec 6
And, AP = asec 6 \\

OAC = AP + PC
OAC=bcosecH+asecH.. (1)

dl A
Ef& )— —bhcosecf cot & + asecd tan 7
Ld(a0)_ Q
Code

= gsec @ tan & = becosect cot 9

a sing hAmEJ
cosd cosf 1 & ,
R\

= asin’ @ = bcos’

::u{a} siné =(b }L coS

1
:wtanﬁ'":[bT
a

] I
~sing=— P (a) .(2)

and cosfl = ——— —
\J a® +h?
1

d*(AC 3
It can be clearly shown that a{‘éi'z ] < 0 when tané = [E]j .
a
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Therefore, by second derivative test, the length of the hypotenuse is the maximum when
|
bz
tanf=| — | .
o
|
b3

tan & [ ]
Now, when 4/ we have:

E 2
bNa® +b3 +a\fa3 +b°

[Using (1) and (2)]

AC=

Question 13:

Find the points at \ Iﬁt

(i) local maxima

4 3
tion f given by { } {.r—?} {IH) has
'(qlma

(iii) point of inflexion

Answer

The given function is f'[x}: {x_ 2}‘{-‘ +1]‘3-

() =4(xc=2) (x 1) +3(x+1) (x-2)
~(v=2)’(w+1) [ 1) #3(x-2)]
=[I—2}j{x+]}1(?x—2]

Now. f'(x)=0 = x=-1 andx=% orx=2
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2 2
— =, fx)=0.
Now, for values of x close to 7 and to the left of 7 Also, for values of x close to
2 2
= = /(x) <0
7 and to the right of 7
2
r=—
Thus, 7is the point of local maxima.
2._!"(,1'}-:: 0.
Now, for values of x close to 2 and to the left of Also, for values of x close to

2 and to the right of 2,}' {1} = (),

Thus, x = 2 is the point of local minima.

. M x A
Now, as the value of x varies through -1, J [ }does not changes its sign.
Thus, x = —1 is the point of inflexion.

Find the absolute maximum and minimum values.of the function f given by
f(x)=cos’ x+sinx,xe[0.n]
Answer
f(x)=cos” x+sinx
f'(x)=2cosx(—sinéP% cask
—25in x COSX FCh8
Now, f'(x)=0

=> 2sinxcosx = cosx = cosx(2sinx—1)=0

= siny=— or cosx=10

b | —

_>.\':E, or Easxe[{},n]
6 -3

T T
y=—andx=—
Now, evaluating the value of f at critical points 2 6 and at the end points of

the interval[u'n] (i.e., at x = 0 and x = n), we have:
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[ |_LU‘3 —+‘=I]'l——
\

|\|'{_] 1 5
f(0)=cos’ 0+sin0=1+0=1

f[rr}—cos T4+sinT —[—]} +0=1

-

_f'[E] —cos’ZysinE=0+1=1
2 2 2

3 T
— X=—

Hence, the absolute maximum value of fis 4 occurring at 6 and.the absolute

T
x=0,—=, andm.
minimum value of fis 1 occurring at

Show that the altitude of the right circular cone of maximum volume that can be
4

inscribed in a sphere of radius r is 3

Answer

A sphere of fixed radius (r) is given.

Let R and h be the radius and the height of the cone respectively.

The volume (V) of the cone is given by,
I
¥ =T']TH_.IH’F

i ]

Now, from the right triangle BCD, we have:

BC =i - R*

Op=1+ Vit = R?
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I”=%:r|:.’wi’2 [r+¢r2—R2)=%xR2r+§ﬂR2xjr2 -R

> (-2R
d—V=EJ:Rr+?§|:Rv"r2—RZ+ R _(2R)

CdrR 3 3 2NP-R
. N [ N S
3 3 Wri =R
2ak(r’ =R )-nk’
=E?1:Rr+ { )
3 W — R’
2 2xRrt -3k’

=_—TmRr+
3

300 3R
= 2 — R =3R -2 Q)
:>4r1(r1—R2)=[3H3—2r1 : ®
— ' 4R =R 41 12 \Q
= 9R -~ &R =0 \

=9R* =8¢

an,%:{} K A
. 2nrR Ink —2akr’ VQ\)\

87
= k= 9 \&
@ " (27r* —9nR? ) - (2nRr? —31:&3){—6;3}2
Now,——="—+
dR® 3 9(rf —Rz)
o W =R (2nr® —97R® )+ (2mRr” - 37R°)(3R) ,
3 q[r‘* - RE)
Now. when R = EL it can be shown that av <0.
9 dR’
2
=
O The volume is the maximum when 9
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g2 8- 1 4
3 I3 . . br " roodr
When R° = ——. height of the cone = r +‘jr‘ -——=r +\, =r+-=—.
9 9 9 3 3
Hence, it can be seen that the altitude of the right circular cone of maximum volume
4r

that can be inscribed in a sphere of radius r is 3

Show that the height of the cylinder of maximum volume that can be inscribed in a
2R

sphere of radius R is W"E . Also find the maximum volume.

Answer

A sphere of fixed radius (R) is given.

Let r and h be the radius and the height of the eylinderirespectively.

From the given figure, we have #= 2R -

The volume (V) ofithe eylinder is given by,
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V=mh=2m R —*

2ar (=2
,'.£=4ENR3—;’3+—W( r)
dr 2R =7

- 3
N S L —
VR —1?

~ drr (R = )= 2mr”

B (Rt _ 2

a dnrR* -6
ar .
Now, e 0 =4nrR’ —6mr' =0 @
r

==

3 ;
JR = (4nR? 18 ) — (410 R® — Oomls ~2r)
Now, V- ( ) OWIR -~
- RZ_?‘E \(‘)

e \\k

dr’
(R —r*)(4nR" -18 T-6mr)
= N "4
(R
4nR' 222w R + 10 Y 4’ R
L 2R AV
= s
Now, it can be observed that at 3 ar
r =—2R2 .
OThe volume is the maximum when 3

2 2R 2 fre 2Ry [RD 2R
When 3 , the height of the cylinder is 3 3 “E

2R
Hence, the volume of the cylinder is the maximum when the height of the cylinder is \E .
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Show that height of the cylinder of greatest volume which can be inscribed in a right
circular cone of height h and semi vertical angle a is one-third that of the cone and the
4 L 5
—qth” tan” o
greatest volume of cylinder is 27
Answer
The given right circular cone of fixed height (h) and semi-vertical angle (@) can be drawn

as:

F Do F G

Here, a cylinder of radius R and height H is inscribed in the cone.
Then, OGAO =a, OG =r, OA = h; OE =R, and CE = H.

We have,

r=htana

Now, since AAOG is similar to ACEG, we have:

AO CE
0G EG
SN €6 OG - OE]
roor—R
:H:f—?{r R)= 4 (htane - R) = ! (htana — R)
r htan cr tan cr '

Now, the volume (V) of the cylinder is given by,

, ' ., wR’
V =nR*H =~ {a’:tunfi—R]:nR'h— T
tan o tan o
v 3Rk’
av _ 2uRh— i
dR tan o
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Vv
Nﬂwﬁd—:ﬂ
daRr

InR’

tan
= 2htaner = 3R

= 2nRkh=

ﬁﬁz%tanrz

Nuw.d-I: =2nh- bk
dR” tan &
R= E tan c
And, for 3 , we have:
217 £y
Q =2nh ox_(2h tana |=2ah—4nh=-2ah <)
iR tanex | 3 J

OBy second derivative test, the volume of the cylinder is the greatest when

R :?tan ot

2h 1 [ h y 1 (htance ) A
When R = tance, = ftano—-—tano | = : |=
3 tan ol 3 ) tancoy, 3 ) 3

Thus, the height of the cylinder.is one=third the height of the cone when the volume of
the cylinder is the greatest.

Now, the maximum volume ofithe cylinder can be obtained as:

( 2h Vi kY . . Yy 4L
T tang | | — = n[SePtan -:,f| —J —m b tan” o
3]0 Y 27

5 5
3 NS, JU3

-—

Hence, the given result is proved.

A cylindrical tank of radius 10 m is being filled with wheat at the rate of 314 cubic mere
per hour. Then the depth of the wheat is increasing at the rate of

(A) 1 m/h (B) 0.1 m/h

(C©) 1.1 m/h (D) 0.5 m/h

Answer
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Let r be the radius of the cylinder.

Then, volume (V) of the cylinder is given by,

V = n(radius ) % height

x(10) & (radius =10 m)
=100xh
Differentiating with respect to time t, we have:
di =100 ﬂ
dr d

The tank is being filled with wheat at the rate of 314 cubic metres per hour.
i .
2 314 m'/h

O dt

Thus, we have:

.'*}llilzllf]'lf]'r[ﬁ

Pl
a‘h_ 314 314

:>__—_
dt  100(3.14) 314

Hence, the depth of wheat is inCreasing at the rate of 1 m/h.

The correct answer is A.

x=t"+3r-8,y=2¢" 21—

The slope of the tangent to the curve- 5at the point (2, —1) is

2 6 1 9P
A 7 ® T b 7
Answer

The given curve is* = t* +3r—8and y=2"-27-5.

.‘.£:2I+3 and £:41'—2
it dt

cdv dy dr 42
T drodv 20+3

The given point is (2, —1).
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At x = 2, we have:

11 +3t—-8=2

=1 +3t—-10=0

= (r-2)(t+5)=0
=i=2orf=-5

Aty =—1, we have:

27 -2-5=-1
—=2t°-2t-4=0
=2(1F=1-2)=0

= (1=2)(1+1)=0
—=it=2ort=-I

The common value of tis 2.
Hence, the slope of the tangent to the given curveat.point (2, —1) is
dv _4{2}—2_8—2_E
del, 2(2)+3 443 7

The correct answer is B.

The line y = mx + 1 is a tangentto the curve y? = 4x if the value of m is
l.
(A)1(B)2(C)3 (D) #
Answer
The equation of the tangent to the given curveis y = mx + 1.
Now, substituting y = mx + 1 in y? = 4x, we get:
= [nz.‘c+ ]}J =dx
= mx +142mx—dx =0
= m'x” +x(2m—4)+1=0 (1)
Since a tangent touches the curve at one point, the roots of equation (i) must be equal.

Therefore, we have:
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Diseriminant =0

(2m-4)’ —4(m*)(1)=0

= 4m” +16—16m—4m* =0

= 16-16m=10

=m=1

Hence, the required value of mis 1.
The correct answer is A.

The normal at the point (1, 1) on the curve 2y + x> = 3 is
A)x+y=0B)x—-y=0
C)x+y+1=0D)x-y=1

Answer

The equation of the given curve is 2y + x* = 3.

Differentiating with respect to x, we have:

2dy
= ax=0
dx
dv
= —— =X
iy
_ ﬁ} 1
ffl.l' (1.1}
The slope of the normal.to the given curve at point (1, 1) is
=1
=1.
afv}
dr f
Hence, the equation of the normal to the given curve at (1, 1) is given as:
= y—l=1{x-1)
= y—l=x-1
= x-y=0

The correct answer is B.
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The normal to the curve x*> = 4y passing (1, 2) is
(A)x+y=3B)x—-y=3

O x+y=1D)x-y=1

Answer

The equation of the given curve is x*> = 4y.
Differentiating with respect to x, we have:

The slope of the normal to the given curve at point (h, k) is.given by,
-1 2

dy h
dx |
CJEquation of the normal at point (h, k) is given as:

k= "2(x—h)
1% ==X 1
y—k=—(

Now, it is given that the normal passes through the point (1, 2).

Therefore, we have:

) %
2=k=-=(1-h i —8 % (Y .1
p (1-h) g J,?l' ) (i)
Since (h, k) lies on the eurve x° = 4y, we have h? = 4k.
:>k=h-
4

From equation (i), we have:
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h* 2
—=24+=(1=-h
4 Fr{ }

3

:>;?—:2!?+2—21?:2
4

= f =8

= h=2

4

Sk = k=1

Hence, the equation of the normal is given as:

= yp-l=—(x-2

y-1=2(x-2)
= y-1=-(x-2)

= x+y=3

The correct answer is A.

The points on the curve 9y = x>, where.the noermal to the curve makes equal intercepts

with the axes are

{ f

4.¢§] L4.—f~
(A" (B) &

f4.¢§] b )
©' 8 (@' 8
Answer

The equation of the given curve is 9y? = x°.

Differentiating with respect to x, we have:

}ﬂﬁ: =3x"

dx
dv X

a’x_a

9(2y

. . X ).
The slope of the normal to the given curve at point (5. '] is
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-1 _ by

dv Xt

I
dx 5.0 )

O The equation of the normal to the curve at {xl,y,} is

_&¥
y—-n= ;}'(I—xl],

X

= xﬁ}"_xﬁl\ =—6xy, +6x,,
= E'xyl +-x12_}"= 6x|}’-| +x|2.}'|

. 2
= b -t - =1 ’\%
6x, v, +x ¥, 6x ¥ +x %
x ¥ ¢ Q
= + =1
GG AN

6 X, \Q)
It is given that the normal makes equal interc% ith the axes.

Therefore, We have:
X [6+x,} _ yl{6+x,]

%,

6 X,
SN
6 x
= =6y,

Also, the point{x' o)

9y =x

From (i) and (ii), we have:

432 .
Q[I—]] :xf:>x—':x,3::=~x, =4
4

From (ii), we have:
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9y =(4) =64
. 64
= ZE
=¥ :i§
3

43,

Hence, the required points are(

The correct answer is A.
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